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TNPSC GROUP I test batch – 2020 
TEST XXIII – DEVELOPMENT ADMINISTRATION IN TAMILNADU 

 
1. Consider the following statements and choose the correct statements 

I. During period between 2011-2015, the number of cultivators in 
Tamilnadu has reduced. 

II. But, area under cultivation has increased during same period. 
III. Percentage of women involved in agriculture is greater than that of 

men. 
IV. Number of Marginal farmers have increased in country but decreased 

in Tamilnadu. 
a. I, II and IV only   b. I and IV only 
c. I, III and IV only   d. All the above 
gpd;tUk; $w;Wfspy; rhpahd $w;Wfis fz;lwpf 
I. 2011-2015 tiuapyhd fhyfl;lj;jpy; jkpo;ehl;by; gaphpLNthhpd; 

vz;zpf;if Fiwe;Js;sJ. 
II. Mdhy; ,Nj fhyfl;lj;jpy; gaphpLk; epyg;gug;ghdJ mjpfhpj;Js;sJ 
III. tptrhaj;jpy; <LgLk; ngz;fspd; rjtPjk; Mz;fis tpl mjpfkhFk; 
IV. ehl;by; FWtptrhapfspd; vz;zpf;if mjpfhpj;Js;sJ. Mdhy; 

jkpo;ehl;by; Fiwe;Js;sJ 
a. I, II kw;Wk; IV kl;Lk;  b. I kw;Wk; IV kl;Lk; 
c. I, III kw;Wk; IV kl;Lk;  d. ,it midj;Jk; 
 

2. Greater part of land in Tamilnadu is used for ___. 
a. agriculture use  b. non-agriculture use 
c. Barren land  d. Grazing lands 
jkpo;ehl;bd; ngUk;ghyhd gFjp ___________ f;F gad;gLfpwJ 
a. Ntshz;ik gad;ghL b. Ntshz; my;yhj gad;ghL 
c. jhpR epyk;   d. Nka;r;ry; epyk; 
 

3. The maximum source of irrigation in Tamilnadu is  
a. lakes  b. Canals  c. Open wells  d. Tube wells 
jkpo;ehl;bd; mjpfgl;r ePh;g;ghrd Mjhuk; ________ 
a. Vhpfs;  b. fhy;tha;fs;  
c. jpwe;j fpzWfs; d. Mo;Jis fpzWfs; 
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4. Consider following statements and choose correct statements 
I. Out of total area of cultivated land, percentage of non-food crop is 

greater than food crops. 
II. Paddy is major contributor to total amount of food Production in 

Tamilnadu. 
III. After Paddy, Wheat is second most Produced crop in Tamilnadu. 
a. II only    b. II and III only   
c. I and II only   d. All the above 
gpd;tUk; $w;Wfspy; rhpahd $w;Wfis fz;lwpf 
I. rhFgb nra;ag;gl;l epyj;jpd; nkhj;j gug;gstpy; czT my;yhj 

gaph;fspd; rjtPjk; czTg; gaph;fis tpl mjpfkhf cs;sJ 
II. jkpo;ehl;bd; nkhj;j czT cw;gj;jpapy; ney; Kf;fpa gq;F tfpf;fpwJ 
III. ney;Yf;F mLj;J> NfhJik jkpo;ehl;by; mjpfk; cw;gj;jp nra;ag;gLk; 

gapuhFk; 
a. II kl;Lk;    b. II kw;Wk; III kl;Lk; 
c. I kw;Wk; II kl;Lk;   d. ,it midj;Jk; 

 

5. Consider the following statements and choose correct statements 
1. Cauvery is third largest river in India. Its length is 765 km. 
2. Dams like krishnaraja Sagar, Stanley reservoir and Kallanai is constructed 

across Cauvery. 
a. 1 only  b. 2 only c. Both 1 and 2 d. None of above 
gpd;tUtUk; $w;Wfspy; rhpahd $w;Wfis fz;lwpf 
1. fhtphp> ,e;jpahtpy; %d;whtJ nghpa MW. ,jd; ePsk; 765 fp.kP MFk; 
2. fhtphpapy; fpU~;zrhfh; miz> ];lhd;yp ePh;Njf;fk; kw;Wk; fy;yiz 

Mfpait fl;lg;gl;Ls;sJ 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2  d. ,it VJkpy;iy 
 

6. Consider following statements and choose correct statement 
1. India is largest exporter of virtual water in World. 
2. Virtual water refers to hidden water when food commodities are traded 

from one place to another. 
a. 1 only  b. 2 only c. Both 1 and 2  d. None of above 
gpd;tUtdtw;wpy; rhpahd $w;wpidf; fz;lwpf 
1. cyfpy; nka;epfh; ePiu mjpf mstpy; Vw;Wkjp nra;Ak; ehL ,e;jpah 
2. nka;epfh; ePh; vd;gJ czTg; nghUl;fs; xU ,lj;jpypUe;J ,d;ndhU 

,lj;jpw;F th;j;jfk; nra;ag;gLk;NghJ kiwf;fg;gl;l ePiuf; Fwpf;fpwJ 
a. 1 kl;Lk;  b. 2 kl;Lk; c. ,uz;Lk;  d. ,uz;Lkpy;iy 
 

7. Consider following statements and choose correct answer 
Assertion (A): Share of agriculture in an economy‟s income and  
   employment decrease with development. 
Reason (R):As demand for food remains constant even when income 
increases, consumer spend lesser share of their income on products from 
agricultural sector. 
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a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): xU nghUshjhuj;jpd; tUkhdj;jpy; tptrhaj;jpd; gq;F kw;Wk; 
tsh;r;rpAld; Ntiytha;g;G FiwfpwJ 
fhuzk; (R): tUkhdk; mjpfhpf;Fk; NghJ $l czTf;fhd Njit 
epiyahdjhf ,Ug;gjhy;> Efh;Nthh; jq;fs; tUkhdj;jpy; Fiwe;j gq;if 
tptrhaj; Jiwapd; jahhpg;GfSf;F nrytpLfpwhh;fs; 

a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 

8. Labour productivity in agricultural sector cannot increase because of 
a. Labour do not prefer agricultural sector. 
b. Lack of other employment opportunities 
c. Declining marginal productivity of land. 
d. Lack of education among agricultural labourers. 
Ntshz; Jiwapy; njhopyhsh; cw;gj;jp mjpfhpf;ftpy;iy> Vnddpy; 

a. njhopyhsh;> Ntshz;Jiwf;F Kf;fpaj;Jtk; toq;ftpy;iy 
b. gpw Ntiytha;g;Gfs; ,y;yhjJ 
c. epyj;jpd; cw;gj;jpjpwd; Fiwjy; 
d. tptrha njhopyhsh;fspilNa fy;tp gw;whf;Fiw 

 
9. Consider characteristics of industrial clusters: 

1. Sector specific    2. Collaboration and Competition 
3. Multi skilled workforce   4. Supportive government 
5. Geographically isolated industries 
Correct statements are 
a. 1, 3 and 5 only   b. 1, 2, 3 and 4 only 
c. All the above   d. 2, 3, 4 and 5 only 
njhopw;Jiwapd; gz;Gfis fz;lwpAq;fs; 
1. Jiw rhh;e;jJ 
2. xj;Jiog;G kw;Wk; Nghl;b 
3. gy jpwikahd gzpahsh;fs; 
4. rhjfkhd murhq;fk; 
5. Gtpapay; hPjpahf jdpikg;gLj;jg;gl;l njhopy;fs; 
a. 1> 3 kw;Wk; 5 kl;Lk;  b. 1> 2> 3 kw;Wk; 4 kl;Lk; 
c. ,it midj;Jk;   d. 2> 3> 4 kw;Wk; 5 kl;Lk; 
 

10. What are the factors for industrialization in Tamilnadu? 
1. Cotton cultivation introduced during colonial period in Western and 

Southern Tamilnadu. 
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2. Introduction of railways 
3. Presence of major ports 
4. Hydro – electric projects in 1930s 
5. Establishment of PSus. 
6. Trade liberalization post 1990s. 
a. 1, 2, 3 and 4 only   b. 1, 2, 3, 4 and 5 only 
c. All the above   d. 2, 3 and 4 only 
jkpo;ehl;bd; njhopy;kakhf;fYf;fhd fhuzpfs; vit? 
1. Nkw;F kw;Wk; njw;F jkpo;ehl;by; fhydpj;Jt fhyj;jpy; 

mwpKfg;gLj;jg;gl;l gUj;jp rhFgb 
2. ,uapy;Nt mwpKfk; 
3. Kf;fpaj; JiwKfq;fs; mikT 
4. 1930fspy; ePh; kpd;rhuj;jpl;lq;fs; 
5. nghJj;Jiw epWtdq;fis epWTjy; 
6. 1990fspy; th;j;jf jhuhskakhf;fk; 
a. 1> 2> 3 kw;Wk; 4 kl;Lk;  b. 1> 2> 3> 4 kw;Wk; 5 kl;Lk; 
c. ,it midj;Jk;   d. 2> 3 kw;Wk; 4 kl;Lk; 

 
11. Consider following statements and choose correct statements 

1. Tamilnadu has largest number of factories among all states in India. 
2. Tamilnadu has largest share of workforce employed in agricultural sector 

among all states in India. 
a. 1 only  b. 2 only c. Both 1 and 2 d. None of above 
gpd;tUtdtw;wpy; rhpahd $w;Wfis Njh;e;njL 
1. ,e;jpahtpy; cs;s midj;J khepyq;fis tpl jkpo;ehl;by; mjpf 

vz;zpf;ifapyhd njhopw;rhiyfs; cs;sd 
2. ,e;jpahtpy; cs;s midj;J khepyq;fistpl tptrhaj;Jiwapy; gzpGhpAk; 

njhopyhsh;fis mjpfkhf nfhz;lJ jkpo;ehL 
a. 1 kl;Lk;  b. 2 kl;Lk; c. ,uz;Lk;  d. ,uz;Lkpy;iy 
 

12. Consider following statements and choose correct answer. 
Assertion (A): Tamilnadu has better rural – urban linkages than most 
other states 
Reason (R): This is due to diffused industrialization & corresponding 
urbanization. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): kw;w khepyq;fis tpl jkpo;ehL rpwe;j fpuhk – efh;Gw 
,izg;igf; nfhz;Ls;sJ 
fhuzk; (R): ,J gutyhd njhopy;kakhf;fy; kw;Wk; mjDld; njhlh;Gila 
efukakhf;fy; fhuzkhFk; 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
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b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
 

13. Choose the correct statements regarding industrialization in Tamilnadu. 
I. Industries were concentrated in eastern part of state 
II. The entrepreneurs came from dispersed social background. 
III. The state has better mix of large, small and household industries. 
a. 1 and 2 only   b. 2 and 3 only 
c. 1 and 3 only   d. All the above 
 
jkpo;ehl;bd; njhopy;kakhf;fy; Fwpj;j rhpahd $w;Wfis fz;lwpf 
I. njhopw;rhiyfspd; khepyj;jpd; fpof;F gFjpapy; Ftpe;Js;sd 
II. njhopy;KidNthh; rpjwpa r%f gpd;dzpapy; ,Ue;J te;jth;fs; 
III. nghpa> rpW kw;Wk; tPl;L njhopy;fs; vd fyitia muR nfhz;Ls;sJ 
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 3 kl;Lk;   d. ,it midj;Jk; 
 

14. Consider following statements and choose correct answer 
Assertion (A): Chennai is nicknamed as „Detroit of Asia‟. 
Reason (R): It is one of most industrialize districts in the state. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nrd;id “Mrpahtpd; nll;uha;L” vd;w Gidg;ngaiuf; nfhz;lJ 
fhuzk; (R): ,J khepyj;jpy; kpfTk; njhopy;kakhf;fg;gl;l khtl;lq;fspy; 
xd;whFk; 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
15. Consider following statements and choose correct answer. 

Assertion (A): Coimbatore is known as „Manchester of South India‟. 
Reason (R): It is due to presence of large number of textile industry. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): “,e;jpahtpd; khd;nr];lh;” vd Nfhak;Gj;J}h; mwpag;gLfpwJ 

http://www.appolosupport.com/


 
 

6 | Page            www.appolosupport.com    PH: 9500099706        

 

fhuzk; (R): ,J> mjpf vz;zpf;ifapyhd [Tsp njhopw;rhiyfs; 
mike;Js;sjhy; ,t;thW miof;fg;gLfpwJ 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
 

16. Consider following statements and choose correct statements 
1. Major leather producing clusters are around Vellore, Erode, Chennai, 

Dindigul, Ranipet. 
2. Vellore is top exporter of finished leather goods in country. 
3. Tamilnadu has 60% of all leather tanning capacity in country. 
a. 1, 2 and 3 only   b. 1 and 2 only 
c. 2 and 3 only   d. 1 and 3 only 
 
rhpahd $w;Wfis fz;lwpf 
1. mjpf Njhy; cw;gj;jp Jiwfs; NtY}h; <NuhL> nrd;id> jpz;Lf;fy;> 

,uhzpNgl;il Mfpatw;iw Rw;wpAs;sd 
2. NtY}h; ehl;bd; rpwe;j Njhy; nghUl;fspd; cw;gj;jp ,lkhFk; 
a. 1> 2 kw;Wk; 3 kl;Lk;  b. 1 kw;Wk; 2 kl;Lk; 
c. 2 kw;Wk; 3 kl;Lk;   d. 1 kw;Wk; 3 kl;Lk; 

 
17. State agency that provides financial support to setup new unit and expansion 

of existing units. 
a. Tamilnadu Small Industries Corporation Limited. 
b. Tamilnadu Industrial Investment Corporation Limited. 
c. Tamilnadu Small Industries Development Corporation. 
d. Tamilnadu Industrial Development Corporation 
Gjpa myfpid mikg;gjw;Fk;> ,Uf;Fk; myFfspd; tphpthf;fj;jpw;Fk; epjp 
cjtpia toq;Fk; muR epWtdk; vJ? 
a. jkpo;ehL rpWnjhopy;fs; epWtd fofk; 
b. jkpo;ehL njhopy;Jiw KjyPl;L fofk; 
c. jkpo;ehL rpWnjhopy;fs; tsh;r;rp fofk; 
d. jkpo;ehL njhopy;fs; Nkk;ghl;L fofk; 

 
18. Consider following statements and choose correct answer. 

I. Startup India scheme was started on 16 January 2016. 
II. It facilitates bank loan of Rs. 10 lakh to Rs. 1 crore to at least one SC/ST 

borrower per bank branch for setting up a greenfield enterprise. 
a. I only  b. II only c. Both I and II  d. None of above 
gpd;tUk; $w;Wfspy; rhpahd $w;Wfis fz;lwpf 
I. ];lhh;l;mg; ,e;jpah jpl;lk; 2016> [dthp 16,y; njhlq;fg;gl;lJ 
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II. ,J gRik Gy;ntsp epWtdj;ij mikg;gjw;F> Fiwe;jgl;rk; xU 
gl;bay; ,dj;jth; / goq;Fb ,dj;jth; fld; thq;FgtUf;F &.10 
yl;rk; Kjy; 1 Nfhb &gha; fld; toq;fp tq;fpf;flid vspjhf;Fjy; 

a. I kl;Lk;  b. II kl;Lk;  c. I & II ,uz;Lk; d. vJTkpy;iy 

 
19. Dr. Mahabub – ul – haq defined Human Development as 

a. having self-sufficiency in education, healthcare, income and 
empowerment. 

b. enlarging range of people‟s choice for education, healthcare, income and 
empowerment. 

c. increasing Per capita income of people. 
d. full employment in a society 
lhf;lh; kfg+g;-cy;-`f; kdpj Kd;Ndw;wj;ij vt;thW tiuaWf;fpwhh;? 

a. jd;dpiwthd fy;tp> Rfhjhuk;> tUtha; kw;Wk; mjpfhukspj;jiyf; 
nfhz;lJ 

b. fy;tp> Rfhjhuk;> tUkhdk; kw;Wk; mjpfhukspj;jy; Mfpatw;wpy; kf;fs; 
Njh;T tuk;ig tphpTgLj;Jjy; 

c. kf;fspd; jdpegh; tUkhdj;ij mjpfhpj;jy; 
d. r%fj;jpy; KO Ntiytha;g;ig toq;Fjy; 

 
 
20. Consider statements and choose correct answer. 

I. Kerala is only state to have a sex ratio above 1000 
II. Tamilnadu is the most urbanized (48.4%) state in India. 
a. I only  b. II only c. Both I and II  d. None of above 
gpd;tUk; $w;Wfspy; rhpahd $w;Wfis fz;lwpf 
I. 1000f;F Nky; ghypd tpfpjj;ijf; nfhz;l khepyk; Nfush kl;LNk 
II. ,e;jpahtpy; cs;s midj;J khepyq;fistplTk; jkpofk; kpfTk; 

efukakhf;fg;gl;Ls;sJ (48.4%) 
a. I kl;Lk;  b. II kl;Lk;  c. ,uz;Lk;  d. ,uz;Lkpy;iy 

 
21. Which is not a factor included in calculation of Human Development Index? 

a. literacy rate   b. life expectancy at birth 
c. purchasing power parity  d. Gross National Product 
kdpj Nkk;ghl;Lf; FwpaPl;ilf; fzf;fpLk; NghJ Nrh;f;fhj fhuzp vj? 
a. vOj;jwpT tPjk;   b. MAl;fhyk; 
c. thq;Fk; jpwd; rkepiy  d. nkhj;j cs;ehl;L cw;gj;jp 
 

22. Consider following statements and choose correct answer 
1. India is in medium human development category. 
2. India‟s HDI has increased by nearly 50% from 1990 – 2017. 
3. All three components of HDI have shown remarkable improvement in 

India 
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a. 1 and 2 only   b. 2 and 3 only 
c. 1 and 3 only   d. All the above 
gpd;tUtdtw;wpy; rhpahdij Njh;T nra;f 
1. ,e;jpah eLj;ju kdpj Nkk;ghl;L gphptpy; cs;sJ 
2. ,e;jpahtpd; HDI 1990 Kjy; 2017 tiu fpl;lj;jl;l 50 rjtPjk; 

mjpfhpj;Js;sJ 
3. HDI-apd; %d;W $WfSk; ,e;jpahtpy; Fwpg;gplj;jf;f Kd;Ndw;wj;ijf; 

fhl;bAs;sd 
a. 1 & 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 3 kl;Lk;   d. ,it midj;Jk; 
 

23. Consider following statements and choose correct answer. 
1. Tamilnadu is 2nd in GDP. 
2. It is the most economically Free State in country. 
3. It is highest in Per capita income. 
a. 1 only b. 1 and 2 only c. 2 and 3 only  d. 1 and 3 only 
rhpahd $w;Wfis fhz;f 
1. GDP-apy; jkpo;ehL ,uz;lhk; ,lk; tfpf;fpwJ 
2. ,J ehl;bd; nghUshjhu hPjpahf kpfTk; Rje;jpu khepykhFk; 
3. ,J mjpf jdpegh; tUkhdk; nfhz;l khepykhFk; 
a. 1 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk;   
c. 2 kw;Wk; 3 kl;Lk;   d. 1 kw;Wk; 3 kl;Lk; 
 

24. State with highest Gross enrolment ratio in higher education. 
a. Kerala  b. Tamilnadu  c. Andhra Pradesh d. Telangana 
cah; fy;tpapy; mjpf nkhj;j Nrh;f;if tpfpjk; nfhz;l khepyk; vj? 
a. Nfush  b. jkpo;ehL  c. Me;jpugpuNjrk; d. njYq;fhdh 
 

25. Consider the following statements and choose correct statement 
I. Tamilnadu has 6% of India‟s population but only 3% of water 

resources. 
II. North east monsoon is major source of rainfall in state. 
a. I only  b. II only c. Both I and II d. None of above 
rhpahd $w;Wfis fhz;f 
I. jkpo;ehL ,e;jpahtpy; 6 rjtPj kf;fs; njhifiaf; nfhz;Ls;sJ> 

Mdhy; 3% kl;LNk ePh;tsj;ij nfhz;Ls;sJ 
II. ,J tlfpof;F gUtfhw;wpdhy; ngUksT kiongWfpwJ 
a. I kl;Lk;  b. II kl;Lk;  c. ,uz;Lk;  d. ,uz;Lkpy;iy 

 
26. Choose the correct statement on Theosophical society. 

1. It was found in USA in 1875 by Annie Besant.  
2. It played an important role in revival of Buddhism in India 
a. 1 only b. 2 only  c. Both 1 and 2 d. None of above 
gpuk;kQhd rig Fwpj;j rhpahd $w;wpidf; fz;lwpf 
1. ,J md;dpngrd;l;lhy; 1875,y; mnkhpf;fhtpy; Njhw;Wtpf;fg;gl;lJ 
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2. ,J ,e;jpahtpy; kPz;Lk; Gj;jkjk; kWkyh;r;rp ngw Kf;fpa gq;fhw;wpaJ 
a. 1kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2  d. VJkpy;iy 
 

27. Match following works of Social Reformers. 
A. New India   1. Iyotheedasa Pandithar 
B. Thiruvarutpa  2. Annie Besant 
C. Akila Thirattu  3. Ramalinga Adigal 
D. Oru Paisa Tamizhan 4. Vaikunda Swamigal 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c.  2 3 1 4 
d. 2 1 4 3 
r%f rPh;jpUj;jthjpfspd; gilg;Gfis nghUj;Jf 
A. epa+ ,e;jpah  1. mNahj;jpjhr gz;bjh; 
B. jpUtUl;gh  2. md;dpngrd;l; 
C. mfpy jpul;L  3. ,uhkypq;f mbfs; 
D. xU igrh jkpod; 4. itFe;j Rthkpfs; 
 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c.  2 3 1 4 
d. 2 1 4 3 
 
 
 
 
 
 

28. Choose the correct statements about Ramalainga adigal. 
i. He popularized Jeevakarunyam – to show compassion on all living 

things. 
ii. He established Samarasa Sanmarga Sangam in 1865. 
iii. He established Sathya Gnana Sabha at Vadalur. 
iv. He wrote Manu murai kanda vaasagam. 
v. His works were called „Marutpa‟ 
a. i, iii only   b. ii and iv only  
c. i, ii, iii, iv only   d. All of these 
,uhkypq;f mbfs; Fwpj;j rhpahd $w;Wfis Njh;f 
i. vy;yh caph;fsplKk; ,uf;fk; fhl;l mth; [PtfhUz;aj;ij 

gpugyg;gLj;jpdhh; 
ii. 1865,y; rkur rd;khh;f;f rq;fj;ij Njhw;Wtpj;jhh; 
iii. tlY}hpy; rj;aQhd rigia Njhw;Wtpj;jhh; 
iv. kDKiw fz;l thrfj;ij vOjpdhh; 
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v. ,tuJ gilg;Gfs; “kUl;gh” vd miof;fg;gl;lJ 
a. i, iii kl;Lk;   b. ii kw;Wk; iv kl;Lk; 
c. i, ii, iii, iv kl;Lk;  d. Nkw;$wpa midj;Jk; 
 

29. Choose the correct statements about Vaikunda Swamigal. 
i. He was born at Chidambaram. 
ii. He supported British rule due to their social reform initiatives. 
iii. He worked for welfare of low caste people 
iv. His cult was known as Ayyavazhi. 
a. i and ii only   b. i, iii and iv only 
c. ii, iii and iv only   d. iii and iv only 
itFe;j Rthkpfs; njhlh;ghd rhpahd $w;Wfis Njh;f 
i. ,th; rpjk;guj;jpy; gpwe;jhh; 
ii. mthpd; rPh;jpUj;j eltbf;iffs; %ykhf mth; gphpl;b~; Ml;rpia 

Mjhpj;jhh; 
iii. jho;j;jg;gl;l kf;fspd; eyDf;fhf ghLgl;lhh; 
iv. mtuJ topghl;L Kiw ma;ahtop vd mwpag;gl;lJ 
a. i & ii kl;Lk;   b. i, iii kw;Wk; iv kl;Lk; 
c. ii, iii kw;Wk; iv kl;Lk;  d. iii kw;Wk; iv kl;Lk; 
 

30. Which social reformer practiced Siddha medicine. 
a. Ramalinga Adigal  b. Vaikunda Swamigal 
c. Iyothee Dasar   d. Rettaimalai Srinivasan 
ve;j r%f rPh;jpUj;jthjp rpj;j kUj;Jtj;ij gapd;whh;? 
a. ,uhkypq;f mbfs;  b. itFe;j Rthkpfs; 
c. mNahj;jpjhrh;   d. nul;ilkiy rPdpthrd; 
 

31. Consider statements on Iyothee Thassar and choose correct statements 
i. He found Advaidananda Sabha 
ii. He fought for temple entry of untouchables. 
iii. He started Dravida Kazhagam from Justice Party. 
iv. He converted to Buddhism under influence of Dr. B.R. Ambedkar. 
a. i only   b. i and ii only 
c. i, ii and iv only  d. all the above 
mNahj;jpjhrh; Fwpj;j rhpahd $w;Wfis Ma;f 
i. ,th; mj;itjee;jh rigia cUthf;fpdhh; 
ii. jPz;ljfhjth;fspd; Nfhtpy; EioTf;fhf Nghuhbdhh; 
iii. ePjp fl;rpapypUe;J jpuhtpl fofj;ij njhlq;fpdhh; 
iv. lhf;lh; gp.Mh; mk;Ngj;fh; cjtpapdhy; Gj;j kjj;jpw;F khwpdhh; 
a. i kl;Lk;   b. i kw;Wk; ii kl;Lk; 
c. i, ii kw;Wk; iv kl;Lk; d. ,it midj;Jk; 

 
32. Consider following statements and choose correct answer 
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1. Thirukkural was earliest Tamil work to be printed in 1578. 
2. R. Caldwell was first to formulate idea that South Indian languages 

belonged to a separate family of languages different from Indo Aryan 
language. 

a. 1 only b. 2 only c. Both 1 and 2 d. None of above 
rhpahd $w;Wfis fz;lwpf 
1. jpUf;Fws; 1578y; mr;rplg;gl;l Muk;gfhy jkpo; gilg;ghFk; 
2. R. fhy;Lnty; Kjd; Kjypy; njd;dpe;jpa nkhopfs;> ,e;Njh Mhpa 

nkhopapypUe;J NtWgl;l nkhopfs;> ,it jdpf;FLk;gj;ij Nrh;e;jit vd;w 
fUj;ij tFj;jhh; 

a. 1 kl;Lk;  b. 2 kl;Lk; c. ,uz;Lk;  d. ,uz;Lkpy;iy 
 

33. Choose the correct statements about Maraimalai Adigal 
i. He was father of Tamil linguistic Purism. 
ii. He started „Thani Tamil Iyakkam‟ that demanded a separate state of 

Tamilnadu. 
iii. His journal was Arivukkadal. 
iv. He ran an institution named Potu Nilaik Kalakam. 
v. He compiled dictionary pure Tamil words to Sanskrit words that crept 

into Tamil vocabulary. 
a. i, ii, iii and iv only  b. i, iii, iv and v only 
c. i, iii and iv only   d. all the above 

 kiwkiy mbfs; gw;wpa rhpahd $w;Wfis Njh;f 
i. mth; jkpo; J}a;ik nkhopapay; je;ij vdg;gLfpwhh; 
ii. jkpo;ehl;il jdp khepykhff; NfhUk; “jdp jkpo; ,af;fj;ij” 

njhlq;fpdhh; 
iii. ,thpd; gj;jphpf;if mwpTf;fly; 
iv. nghJ epiyf;fofk; vDk; epWtdj;ij elj;jpdhh; 
v. rk];fpUj nrhw;fSf;F J}a jkpo; nrhw;fisj; njhFj;jhh; 
a. i, ii, iii kw;Wk; iv kl;Lk;   b. i, iii, iv kw;Wk; v kl;Lk; 
c. i, iii kw;Wk; iv kl;Lk;   d. ,it midj;Jk; 
 

34. Dravidian movement emerged mainly as a 
a. Movement to uplift scheduled caste & untouchable 
b. Promote communal harmony in state 
c. defence of Non-Brahmins against Brahmin dominance  
d. economic development of state. 
jpuhtpl ,af;fk; Kf;fpakhf Njhd;wpajd; fhuzk; 
a. jPz;ljfhjth;fs; kw;Wk; gl;baypdj;jtiu Nkk;gLj;Jtjw;fhd ,af;fk; 
b. khepyj;jpy; tFg;Gthj ey;ypzf;fj;ij Cf;Ftpj;jy; 
c. gpuhkz Mjpf;fj;jpw;F vjpuhf gpuhkzh; my;yhNjhhpd; ghJfhg;G 
d. khepyj;jpd; nghUshjhu Nkk;ghL 
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35. Choose the correct statements on Justice party. 
i. South Indian Liberation Federation was formed in 20 November, 1916. 
ii. Non-Brahmin manifesto was issued in December 1916. 
iii. SILF was formed by leaders like Alamelu Mangai Thayarammal, T.M. 

Nair, e. Natesanar. 
iv. Newspaper were Revolt, Justice and Republic. 
v. Justice party formed first ever ministry at Madras in 1920. 
vi. First Chief Minister from Justice Party was O.P. Ramaswamy Reddiar. 
a. All the above  b. i, ii, iii, v and vi only 
c. i, ii, iii and v only  d. iv and v only 
ePjpfl;rp gw;wpa rhpahd thf;fpaq;fis Njh;f 
i. 1916 etk;gh; 20y; njd;dpe;jpa ey chpikr; rq;fk; cUthf;fg;gl;lJ 
ii. 1916 brk;ghpy; gpuhkzuy;yhNjhh; mwpf;if ntspaplg;gl;lJ 
iii. SILF myNkYkq;if jhahuk;khs;> b.vk;.ehah;> lhf;lh; eNlrdhh; Mfpa 

jiyth;fshy; cUthf;fg;gl;lJ 
iv. hpNthy;l;> [];b]; kw;Wk; FbauR Mfpa gj;jphpf;if ntspaplg;gl;lJ 
v. 1920y; ePjpfl;rp Kjy; mikr;ruitia mikj;jJ 
vi. ePjpfl;rpapd; Kjy; Kjyikr;rh; X.g. uhkrhkp nul;bahh; 
a. Nkw;fz;l midj;Jk;  b. i, ii, iii, v kw;Wk; vi kl;Lk; 
c. i, ii, iii kw;Wk; v kl;Lk;  d. iv kw;Wk; v kl;Lk; 
 

36. Which of following are reforms of Justice party? 
i. Allowing women to enter politics. 
ii. Legalizing intercaste marriage. 
iii. Allow access of public spaces to depressed classes. 
iv. Passing Hindu Religious Endowment Act that allowed any community or 

individual to manage religious institutions. 
v. Providing 1 unit of rice for 1 Rupee to poor. 
a. i and iv only  b. ii, iii and iv only 
c. i, ii, iii and iv only  d. all the above 
ePjpfl;rp Nkw;nfhz;l rPh;jpUj;jq;fs; ahit? 
i. ngz;fis murpaypy; gq;Fngw nra;jJ 
ii. fyg;G jpUkzj;ij rl;lg+h;tkhf;fpaJ 
iii. jho;j;jg;gl;l gphptpdh;> nghJ ,lq;fis gad;gLj;j mDkjpj;jJ 
iv. ,e;J rka mwepiyar; rl;lj;ij epiwNtw;wpaJ> ,jd; %yk; 

ve;jnthU jdpegUk; my;yJ r%fKk; Nfhtpy; eph;thfq;fis eph;tfpf;f 
toptif nra;jJ 

v. ViofSf;F 1 &gha;f;F 1 gb mhprpia toq;fpaJ 
a. i kw;Wk; iv kl;Lk;   b. ii, iii kw;Wk; iv kl;Lk; 
c. i, ii, iii kw;Wk; iv kl;Lk;  d. ,it midj;Jk; 
 
 

37. Communal G.O passed by Justice party in 1921 and 1922 provided for ___. 
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a. Separate electorate to various religious communities. 
b. Religious tolerance and ban on superstitious practices. 
c. Reservation to caste and communities in appointments  
d. None of the above 
1921 kw;Wk; 1922,y; ePjpfl;rp ntspaplg;gl;l tFg;Gthhp murhizfs; 
toq;FtJ 
a. gy;NtW kj r%fq;fSf;F jdp njhFjp toq;FtJ 
b. kj rfpg;Gj;jd;ik kw;Wk; %lek;gpf;if eilKiwfSf;F jil 
c. muR epakdj;jpy; rhjp kw;Wk; r%fq;fSf;F ,l xJf;fPL 
d. Nkw;fz;l VJkpy;iy 
 

38. Consider following statements and choose correct answer 
Assertion (A): Self-respect movement worked towards emancipation of 
women. 
Reason (R): It promoted compulsory education for all 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): Rakhpahij ,af;fk; ngz; tpLjiyf;fhf gzpahw;wpaJ 
fhuzk; (R): midtUf;Fk; fl;lha fy;tpia Cf;Ftpj;jJ 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
39. E.V.R Periyar‟s view towards society was transformed after his visit to 

a. Kancheepuram b. Travancore c. Surat d. Varanasi 
<.Nt.uh. nghpahhpd; r%f ghh;it vq;F nrd;W te;j gpd;G khwpaJ? 
a. fhQ;rpGuk;  b. jpUthq;$h;  c. #uj; d. thuzhrp 
 

40. Consider statement on E.V.R Periyar correct statement are, 
i. He was Mayor of Erode in 1918-19 
ii. He was president and secretary of Indian National Congress 
iii. He promoted use of khadi 
iv. He cut down 500 coconut trees in his farm to support campaign for 

prohibition on liquor 
a. i and ii only   b. iii and iv only   
c. i, ii and iv only   d.  All the above 
<.Nt.uh. nghpahh; Fwpj;j rhpahd $w;Wfis Njh;f 
i. 1918-19,y; <Nuhbd; Nkauhf ,Ue;jhh; 
ii. ,e;jpa Njrpa fhq;fpurpd; jiyth; kw;Wk; nrayhshuhf ,Ue;jhh; 
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iii. fhjp gad;ghl;il Cf;Ftpj;jhh; 
iv. kJ tpyf;F ,af;fj;jpw;F mjuthfj; jdJ Njhg;gpypUe;j 500 njd;id 

kuq;fis ntl;bdhh; 
a. i kw;Wk; ii kl;Lk;  b. iii kw;Wk; iv kl;Lk; 
c. i, ii kw;Wk; iv kl;Lk; d. ,it midj;Jk; 

 
41. Why Periyar Quit Congress in 1925? 

a. Congress was not able to address caste inequality practiced by its 
members. 

b. Cheramadevi Gurukullam incident. 
c. Non passing or resolution for reservation of Non-Brahmins in legislative 

council 
d. all the above 
1925,y;> Vd; nghpahh; fhq;fpurpy; ,Ue;J ntspNawpdhh;? 
a. fhq;fpurpy;> mjd; cWg;gpdh;fs; njhlh;e;J filgpbf;Fk; rhjpg;ghFghl;il 

vjph;f;f Kbatpy;iy 
b. Nrud;khNjtp FUFy> rk;gtk; 
c. rl;lrig Nghd;w gpujpepjpj;Jt mikg;Gfspy; gpuhkzh; my;yhjth;fSf;F 

,l xJf;fPL toq;fg;gltpy;iy 
d. Nkw;fz;l midj;Jk; 
 

42. „Chitraputtiran‟ was pseudonym of, 
a. E.V.R. Periyar  b. Bharathiyar  
c. Bharathidasan  d. Singaravelar 
„rpj;jpuGj;jpud;‟ vDk; Gidg;ngaiuf; nfhz;lth; ahh;? 
a. <.Nt.uh. nghpahh;  b. ghujpahh; 
c. ghujpjhrd;   d. rpq;fhuNtyh; 

 
43. Consider statements and choose correct answer 

Assertion (A): Labour protective laws were passed in 1926 
Reason (R): M. Singaravelar fought for protection of labour rights. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): njhopyhsh; ghJfhg;G rl;lq;fs; 1926y; epiwNtw;wg;gl;ld 
fhuzk; (R): M. rpq;fhuNtyh; njhopyhsh; chpikfisg; ghJfhg;gjw;fhd 
Nghuhbdhh; 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
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44. Consider statements and choose correct answer 
Assertion (A): Periyar opposed nation & Nationalism 
Reason (R): Patriotic feeling was misused by capitalist class. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nghpahh; Njrj;ijAk;> Njrpathjj;ijAk; vjph;j;jhh; 
fhuzk; (R): Njrgf;jp czh;T Kjyhspj;Jt th;f;fj;jhy; jtwhfg; 
gad;gLj;jg;gl;lJ 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
 

45. Consider statements and choose correct answer 
Assertion (A): In 1923, first May Day celebration was organized in Chennai.  
Reason (R): M. Singaravelar had deep faith in communism and labour rights 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): 1923,y; Kjy; Kjyhf Nk jpd tpoh nrd;idapy; eilngw;wJ 
fhuzk; (R): M. rpq;fhuNtyh; fk;a+dprk; kw;Wk; njhopyhsh; chpikapy; Mo;e;j 
ek;gpf;if nfhz;bUe;jhh; 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
46. What was structure of Tamil Society in pre-Sangam age  

a. Hierarchically classified social system 
b. Professionally stratified class structure  
c. Both a and b 
d. Societies with divine sanctions 
Ke;ija rq;f fhyj;jpy; jkpo; r%fj;jpd; mikg;G vd;d? 
a. gbepiyahf tifg;gLj;jg;gl;l r%f mikg;G 
b. nra;ak; njhopypd; mbg;gilapy; mike;jd 
c. a kw;Wk; b ,uz;Lk; 
d. nja;tPf jilfs; nfhz;l rq;fq;fs; 
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47. Who said “world will prosper in knowledge and intellect if both men and 

women are deemed equal”? 
a. Bharathiyar   b. E.V.R. Periyar 
c. Subash Chandra Bose  d. Dr.B.R.Ambedkar 
“Mz;fSk; ngz;fSk; rkkhff; fUjg;gl;lhy; cyfk; mwptpYk; Mw;wypYk; 
tsUk;” vd;W $wpath;? 
a. ghujpahh;    b. <.Nt.uh.nghpahh; 
c. Rgh~; re;jpu Ngh];  d. Dr.gp.Mh;.mk;Ngj;fh; 

 
 
 
 

48. Which of the following is component of political thought of Periyar? 
1. Nationalism is an unreal feeling 
2. Tamil Nationalism and race was misused for sustaining power. 
3. Language not to be misused as a weapon of separatism  
4. No language will be enforced under Dravida socialist Republic Rule 
a. 1,5 only    b. 1,2 and 4 only   
c. 1, 2, 4 and 5 only   d. All the above 
gpd;tUtdtw;Ws; nghpahhpd; murpay; rpe;jidapd; $Wfs; vd;d? 
1. Njrpathjk; vd;gJ cz;ikaw;w czh;T. 
2. jkpo; Njrpathjk; kw;Wk; ,dk; mjpfhuj;ij jf;fitf;f jtwhfg; 

gad;gLj;jg;gLfpd;wd. 
3. gphptpid thjj;jpd; MAjkhf nkhop jtwhfg; gad;gLj;jf;$lhJ. 
4. jpuhtpl Nrhrpaypr FbauR Ml;rpapd; fPo; ve;j nkhopAk; jpzpf;fg;glhJ 
a. 1, 5 kl;Lk;    b. 1,2 & 4 kl;Lk;   
c. 1, 2, 4 & 5 kl;Lk;   d. Nkw;fz;l midj;Jk; 
 

49. Where was first samathuvapuram established 
a. Melakkotai, Madurai  b. Thagattur, Nagapattinam 
c. Kadambathur, Thiruvallur d. Malligaipatrri, Trichi 
vq;F Kjd;Kjypy; rkj;JtGuk; cUthf;fg;gl;lJ? 
a. Nkyf;Nfhl;il> kJiu  b. jfl;̂ h;> ehfg;gl;bdk; 
c. flk;gj;J}h;> jpUts;@h;  d. ky;ypifgw;wp> jpUr;rp 
 

50. What is „Samathuvapuram‟? 
a. A scheme to preach rationality and awareness against superstitions. 
b. A scheme providing free houses where all caste and communities live 

together. 
c. Scheme to provide better prize realization for farmer‟s produce 
d. A model village of economic development providing self employment 

opportunities 
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rkj;JtGuk; vd;why; vd;d? 
a. %lek;gpf;iffSf;F vjpuhd gFj;jwpT kw;Wk; tpopg;Gzh;itg; gpurq;fpf;Fk; 

jpl;lk;. 
b. midj;J rhjpfSk;> r%fq;fSk; xd;whf thOk; ,ytr tPLfis 

toq;Fk; jpl;lk; 
c. tptrhapfs; cw;gj;jp nra;Ak; nghUSf;F rpwe;j tpiyia jUk; jpl;lk;. 
d. RaNtiytha;g;Gfis toq;F nghUshjhu tsh;r;rpapy; xU khjphp fpuhkk;. 
 

51. Consider statements and choose correct answer 
Assertion (A): Zamindari system was abolished in 1950 in Tamil Nadu 
Reason (R): Rajaji abolished Zamindari system in Tamil Nadu 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): jkpo;ehl;by; [kPd;jhhp Kiw 1950-y; xopf;fg;gl;lJ. 
fhuzk; (R): jkpo;ehl;by;> ,uh[h[p [kPd;jhhp Kiwia xopj;jhh;. 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
52. Tamil Nadu slum clearance board was established during tenure of  

a. M.G. Ramachandran  b. M. Karunanidhi 
c. K. Kamaraj    d. C.N. Annadurai 
jkpo;ehL Fbir mfw;Wk; thhpak; ahUila fhyj;jpy; cUthf;fg;gl;lJ? 
a. vk;.[p.uhkre;jpud;   b. vk;.fUzhepjp 
c. Nf.fhkuh[;    d. rp.vd;.mz;zhJiu 

 
53. Which is not an objective of justice party? 

a. Non-Brahmin upliftment  
b. To make a truly representative government 
c. To secure independent Dravida Nadu from British crown 
d. To create public opinion 
vJ ePjpf;fl;rpapd; Fwpf;Nfhs; ,y;iy? 
a. gpuhkzuy;yhNjhh; Nkk;ghL 

b. cz;ikahd gpujpepjpj;Jt murhq;fj;ij cUthf;Fjy;. 
c. gphpl;b~; fhydpahjpf;fj;jpy; ,Ue;J Rje;jpu jpuhtpl ehl;il ghJfhj;jy;. 
d. kf;fs; fUj;ij cUthf;Fjy;. 
 

54. Self respect movement involved 
a. Fight against religion in justifying superstitions 
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b. Equal status and opportunity for women 
c. Equal status to all individuals irrespective of caste  
d. All the above 
Rakhpahij ,af;fk; cs;slf;fpaJ? 
a. %lek;gpf;iffis epahag;gLj;Jk; kjj;jpw;F vjpuhf NghuhLjy;. 
b. ngz;fSf;F rkkhd jFjp kw;Wk; Ntiytha;g;G  
c. rhjpia nghUl;gLj;jhky; midj;J jdpegh;fSf;Fk; rk me;j];J 
d. Nkw;fz;l midj;Jk; 
 

55. What was Erode plan of 1932? 
a. propagation of Non-Brahmin interest among masses 
b. Preventing domination of Aryan languages like Sanskrit and Hindi 
c. Common programme supporting social reform of self respect movement 
and economic reform of labour movement 
d.  All the above 
1932-d; <NuhL jpl;lk; vJ? 
a. kf;fspilNa gpuhkzuy;yhNjhh; Mh;tj;ij gug;Gjy;. 
b. rk];fpUjk;> ,e;jp Nghd;w Mhpa nkhopfspd; Mjpf;fj;ijj; jLj;jy;. 
c.Rakhpahij ,af;fj;jpd; r%f rPh;j;jpUj;jk; kw;Wk; njhopyhsh; ,af;fj;jpd; 
nghUshjhu rPh;jpUj;jj;ij Mjhpf;Fk; nghJthd jpl;lk; 
d. Nkw;fz;l midj;Jk; 
 

56. Who opened temples to depressed d classes in Madras presidency? 
a. E.V.R. Periyar b. Rajaji  c. Satyamurthi d. K. Kamaraj 
nkl;uh]; khfhzj;jpy; jho;j;jg;gl;l tFg;gpdUf;F vd Nfhtpiyj; jpwe;jth; 
ahh;? 
a. <.Nt.uh. nghpahh; b. ,uh[h[p  c. rj;a%h;j;jp  d. Nf.fhkuh[; 
 

57. Consider following statement 
Assertion (A): Periyar advocated Atheism. 
Reason (R) : He wanted to deconstruct established practices of faith, culture 
and custom. Periyar wanted religion to be replaced by rationalism. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nghpahh; ehj;jpfj;ij Mjhpj;jhh;.  
fhuzk; (R): ek;gpf;if> fyhr;rhuk; kw;Wk; tof;fj;jpy; epWtg;gl;l 
eilKiwfis kWfl;likf;f mth; tpUk;gpdhh;. kjk; gFj;jwpthy; khw;wg;gl 
Ntz;Lk; vd nghpahh; tpUk;gpdhh; 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
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c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
 

58. Consider following statement 
Assertion (A): Periyar encouraged people to boycott Brahmin priests 
   and their vedic rituals. 
Reason (R) : He wanted eligible individuals, having proper  religious 
knowledge should become priests rather than being on caste. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nghpahh; gpuhkz Nghjfh;fisAk;> mth;fspd; Ntj rlq;FfisAk; 
Gwf;fzpf;f kf;fis Cf;Ftpj;jhh;.  
fhuzk; (R): mth; jFjpahd egh;fis tpUk;gpdhh;> rhpahd kj mwpT 
nfhz;lth;fs; rhjpapy; ,Ug;gijtpl Nghjfuhf Ntz;Lk; vd;whh;.  
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
59. Which of the following is a book written by Periyar? 

a. Why the women is enslaved  b. Nationlism 
c. Philosophy of Hinduism   d. All the above 
 
gpd;tUk; ve;j E}iy nghpahh; vOjpdhh; 
a. ngz;fs; Vd; mbikahfpwhh;fs;? b. Njrpathjk; 
c. ,e;J kjj;jpd; jj;Jtk;   d. Nkw;fz;l midj;Jk; 
  

60. Consider statement on E.V.R Periyar correct statement are, 
I. He was against child marriage, Devadasi system. 
II. He emphasised women‟s right to divorce 
III. He worked to ensure women‟s right to property. 
IV. He favoured equal rights in guardianship and adoption. 
V. He said motherhood was a burden to women. 

a. I, II, III and IV only  b. I, II and III only   
c. I, II, III and V only  d.  All the above 
<.Nt.uh nghpahh; Fwpj;j rhpahd thf;fpaq;fis Njh;T nra;f. 

I. ,th; Foe;ijj;jpUkzk;> Njtjhrp Kiwf;F vjpuhf nray;gl;lhh;. 
II. tpthfuj;J nra;tjw;fhd ngz;fspd; chpikia mth; typAWj;jpdhh;. 
III. tpthfuj;Jf;fhd ngz;fspd; chpikia cWjpg;gLj;j mth; 

gzpahw;wpdhh;.  
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IV. mth; ghJfhg;G kw;Wk; jj;njLg;gpy; rk chpikfis tpUk;gpdhh;. 
V. jha;ik vd;gJ ngz;fSf;F Rik vd;whh;. 

a. I, II, III kw;Wk; IV kl;Lk;  b. I, II kw;Wk; III kl;Lk;   
c. I, II, III kw;Wk; V kl;Lk;  d.  Nkw;fz;l midj;Jk; 
 

61. Who established Adi Dravida Mahajana Sabha in 1893? 
a. Jyotheedasar   b. Rettaimalai Srinivasan 
c. M.C. Rajah    d. Pitty. Theyagarajar 
1893-y; Mjp jpuhtpl kfh[d rigia Njhw;Wtpj;jth; ahh;? 
a. mNahjpjhrh;   b. ,ul;ilkiy rPdpthrd; 
c. vk;.rp.,uh[d;   d. gpl;b jpahfuh[h; 
 

62. Who become first elected legislative Council Member (1920-26) from 
depressed class in Madras Province? 
a. Iyoothee Thasar  b. Rettaimalai Srinivasan 
c. M.C. Rajah   d. Dharmambal 
nkl;uh]; khfhzj;jpy; jho;j;jg;gl;l tFg;gpypUe;J Nju;e;njLf;fg;gl;l Kjy; 
rl;lkd;w cWg;gpdu; ahh;? 
a. mNahj;jp jhrh;  b. ,ul;ilkiy rPdpthrd; 
c. vk;.rp. ,uh[h  d. jUkk;kghs; 
 

63. Consider following statement about Retaimalai Srinivasan 
i. He was popularly called „Thatha‟ 
ii. He worked for welfare of depressed classes 
iii. He was a close associate of Gandhiji in South Africa 
iv. He supported reservation for depressed classes. 
v. He was not a signatory to poona pact as he demanded separate electorate. 

a. i, iii and v only  b. i, ii and iv only 
c. i, ii, iii and iv only  d. All the above 
,ul;ilkiy rPdpthrd; Fwpj;j $w;Wfis ftdpf;fTk;. 
i. “jhj;jh” vdg; gutshf mwpag;gl;lhu;. 
ii. xLf;fg;gl;l kf;fspd; eyDf;fhf Nghuhbdhh; 
iii. mth; njd;dhg;gphpf;fhtpy; fhe;jp[pAld; neUq;fpa $l;lhspahf ,Ue;jhh;. 
iv. jho;j;jg;gl;l tFg;gpdUf;fhd ,lxJf;fPl;il Mjhpj;jhh;. 
v. ,th; jdpj; njhFjpia Nfhhpajhy; G+dh xg;ge;jj;jpy; ifnaOj;jpltpy;iy 
a. i, iii, v kl;Lk;  b. i, ii & iv kl;Lk; 
c. i, ii, iii & iv kl;Lk;  d. Nkw;fz;l midj;Jk; 
 

64. Which of the following denotes „Pottu kattudal‟? 
a. Decorating bulls before Jalakattu 
b. Art and architecture of ancient temples of Tamil Nadu. 
c. Dedication of women to Hindu temples  
d. None of the above 
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“nghl;L fl;Ljy;” vdf; Fwpg;gpLtJ gpd;tUtdtw;Ws; vJ? 
a. [y;ypf;fl;Lf;F fhisfis myq;fhpj;jy;. 
b. jkpo;ehl;by; cs;s goq;fhy Nfhapy;fspd; fiy kw;Wk; fl;blghzp. 
c. ,e;J Nfhtpy;fSf;F ngz;fis mh;g;gzpj;jy; 
d. Nkw;fz;l vJTkpy;iy 
 

65. First woman legislator in India was  
a. Sarojini Naidu   b. Suevita kripalini 
c. Rukmani Lakshmipathi  d. Muthu lakshmi Reddy 
,e;jpahtpd; Kjy; ngz; rl;lkd;w cWg;gpdh; ahh;? 
a. rNuh[pdp ehAL   b. ];Ntjh fpUghspdp 

c. Uf;kzp yl;Rkpgjp   d. Kj;Jy~;kp nul;b 
 

66. Consider following statements and choose correct answer: 
Assertion (A) : Justice party continued to remain in government from 
   1920-37 in Madras Presidency 
Reason (R) : The Congress party boycotted Madras legislature during period 
of diarchy. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUk; thf;fpaq;fis ftdpj;J> rhpahdij Nju;T nra;f. 
$w;W (A):1920 – 1937 tiu nkl;uh]; khfhzj;jpd; murhq;fj;jpy; ePjpfl;rp 

njhlh;e;J ePbj;jJ. 
fhuzk; (R):fhq;fpu]; fl;rp ,ul;ilahl;rpapd;NghJ nkl;uh]; rl;lkd;wj;ij 

Gwf;fzpj;jJ. 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 
 
 

67. Consider following statement and choose correct statements 
i. Margaret cousin was one of founder of women‟s India Association. 
ii. Periyar spent his entire life campaigning against superstitions through 

Thinker or Rationalists Forum he had formed. 
iii. Singaravelar was a staunch supporter of Hindu Mahasabha. 
iv. Periyar emphasized that caste system in South India is linked with arrival 

of Brahmins from North  
 a. iii and iv are correct  b. ii, iii and iv only 
 c. i, ii and iv are correct  d. i, ii and iii are correct 
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,ul;ilkiy rPdpthrd; gw;wpa rhpahd $w;Wfis Njh;f 
i. khh;fpnul; rNfhjhpfs; kfsph; ,e;jpa rq;f epWtdh;fspy; xUtuhthh;. 
ii. nghpahh; jdJ tho;ehs; KOtijAk; %l ek;gpf;iffSf;F vjpuhf 

gpur;rhuk; nra;J mth; cUthf;fpa rpe;jidahsh; my;yJ gFj;jwpthsh;fs; 
kd;wj;jpy; fopj;jhh;. 

iii. rpq;fhuNtyh; ,e;J kfhrigapd; jPtpu Mjuthsuhf ,Ue;jhh;. 
iv. njd;dpe;jpahtpy; rhjp mikg;G tlf;fpypUe;j gpuhkzh;fspd; vd;W nghpahh; 

typAWj;jpdhh; 
a. iii & iv kl;Lk; rhp   b. ii, iii & iv kl;Lk; 
c. i, ii & iv kl;Lk; rhp  d. i, ii & iii kl;Lk; rhp   
 

68. Consider the following statements and choose correct answer? 
I. Tamil Nadu is one of India‟s richest states since 1994. 
II. Tamil Nadu is among fastest growing states, with growth mainly 

driven by services 
III. In 2013, Tamil Nadu ranked highest in domestic and foreign tourist 

arrivals in the country. 
a. I and II only   b. II and III only 
c. I and III only   d. I, II and III only 
rhpahd thf;fpaq;fis Nju;T nra;f. 
I. 1994- Kjy; ,e;jpahtpd; gzf;fhu khepyj;jpy; jkpo;ehLk; xd;whFk;. 
II. jkpo;ehL Ntfkhf tsh;e;J tUk; khepyq;fspy; xd;whFk;> Kf;fpakhf 

Nritfshy; ,af;fg;gLfpwJ. 
III. 2013 Mk; Mz;L fzf;nfLg;gpd;gb> ehl;by; cs;ehl;L kw;Wk; ntspehl;L 

Rw;Wyhg; gazpfs; mjpfk; tUif jUk; khepyk; jkpo;ehL. 
a. I & II kl;Lk;    b. II & III kl;Lk; 
c. I & III kl;Lk;   d. I, II & II kl;Lk; 
 

69. Consider the following statements and choose correct answer? 
1. Tamil Nadu Stands Third in sex ratio in India 
2. Almost all of Human Development indicators of Tamil Nadu is better 

placed compared to the national average. 
a. 1 only    b.  2only 
c. Both 1 and 2   d. None of the above 
gpd;tUk; thf;fpaq;fis ftdpj;J> rhpahdtw;iw Nju;T nra;f. 
1. ,e;jpahtpy; ghypd tpfpjj;jpy; jkpofk; %d;whtJ ,lj;jpy; cs;sJ. 
2. Njrpa ruhrhpAld; xg;gpLk;NghJ jkpo;ehl;by; fpl;ljl;l midj;J kdpj 

tsh;r;rp FwpaPLfSk; rpwg;ghf cs;sJ. 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 & 2 ,uz;Lk; d. vJTkpy;iy 

70. Match the following indicators for Tamil Nadu. 
A. IMR    1. 17 
B. MMR    2. 72.7 
C. Female literacy rate  3. 73.86 
D. Female life expectancy  4. 79 
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 A B C D 
a. 1 2 3 4 
b. 1 4 3 2 
c.  2 1 3 4 
d. 4 1 3 2 
jkpo;ehl;bw;fhd FwpaPLfisg; nghUj;Jf. 
A. IMR    1. 17 
B. MMR    2. 72.7 
C. ngz;fs; vOj;jwpT tpfpjk; 3. 73. 86 
D. ngz;fs; MAl;fhyk;  4. 79 
 A B C D 
a. 1 2 3 4 
b. 1 4 3 2 
c.  2 1 3 4 
d. 4 1 3 2 
 

71. Consider the following statements and choose correct answer? 
1. Tamil Nadu is third largest economy with a GSDP of $ 207.8 billion. 
2. Tamil Nadu ranks first in Productivity of coconut in country. 
a. 1 only b.  2only c. Both 1 and 2 d. None of the above 
rhpahdij Njh;T nra;f. 
1. 207.8 gpy;ypad; lhyh; ngw;W nkhj;j cs;ehl;L cw;gj;jpapy; jkpo;ehL 

%d;whtJ nghpa nghUshjhu khepykhFk;. 
2. ehl;by; Njq;fha; cw;gj;jp nra;tjpy; jkpofk; Kjyplj;jpy; cs;sJ. 

a. 1 kl;Lk; b. 2 kl;Lk; c. 1 & 2 ,uz;Lk; d. vJTkpy;iy 
 

72. Consider the following statements and choose correct answer? 
Assertion (A) :  Mumbai is called banking capital of India. 
Reason (R)     :  Mumbai is headquarters for various banks & banking  
  institutions like RBI and SEBI. 
a. Both (A) and (R) are true and R is correct explanation for A. 
b. Both (A) and (R) are true and R is not correct explanation for A. 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): Kk;ig> ,e;jpahtpd; tq;fp jiyefuk; vd;W miof;fg;gLfpwJ. 
fhuzk; (R): Kk;ig gy;NtW tq;fpfshd hprh;t; tq;fp kw;Wk; nrgp  
    Nghd;w tq;fp epWtdq;fspd; jiyikafkhFk;. 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

73. Match the following  

http://www.appolosupport.com/


 
 

24 | Page            www.appolosupport.com    PH: 9500099706       

 
 

A. Sankagiri   1. Surgical cotton products 
B. Karur   2. Lorry fleet operators 
C. Tiruchengode  3. Borewell drilling services 
D. Rajapalayam  4. Coach - building 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c.  2 4 3 1 
d. 3 4 2 1 
nghUj;Jf. 
A. rq;ffphp  1. mWit rpfpr;irf;fhd gUj;jp nghUs; 

B. f&h;   2. Yhhp flw;gil ,af;fp 
C. jpUr;nrq;NfhL 3. Mo;Jis Nritfs; 
D. uh[ghisak; 4.  ,uapy;ngl;b fl;likg;G 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c.  2 4 3 1 
d. 3 4 2 1 
 

74. Consider the following statements and choose correct answer? 
1. Banglore is known as electronics Manufacturing services (EMS) Hub of the 

country. 
2. Tamil Nadu is known as the „Yarn Bowl of the country‟   
a. 1 only   b.  2only 
c. Both 1 and 2  d. None of the above 
gpd;tUtdtw;wpy; rhpahdtw;iw Nju;T nra;f. 
1. ngq;f@u;> ehl;bd; kpd;dZ cw;gj;jp Nritfs; ikakhf (EMS) 

mwpag;gLfpwJ. 
2. “ehl;bd; gUj;jp fpz;zk;” vd jkpo;ehL miof;fg;gLfpwJ. 

a. 1 kl;Lk;   b. 2 kl;Lk; 
c. 1 & 2 ,uz;Lk;  d. vJTkpy;iy 
 

75. Consider the following statements and choose correct answer? 
1. TNPL is Asia‟s largest ecofriendly paper mill. 
2. It is the world‟s largest paper mill. 
a. 1 only b.  2only c. Both 1 and 2  d. None of the above 
gpd;tUtdtw;Ws; rhpahdtw;iw Nju;T nra;f. 
1. TNPL Mrpahtpd; kpfg;nghpa #oy; el;G fhfpj MiyahFk;. 
2. ,J cyfpd; kpfg;nghpa fhfpj MiyahFk;. 

a. 1 kl;Lk; b. 2 kl;Lk; c. 1 & 2 ,uz;Lk;  d. vJTkpy;iy 
 
76. Consider the following statements and choose correct answer? 
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1. Tamil Nadu is in forefront of all Indian states in installed capacity of 
energy. 

2. Windfarms in Tamil Nadu generate half of total power output of India. 
a. 1 only   b.  2only 
c. Both 1 and 2  d. None of the above 
gpd;tUtdtw;Ws; rhpahdtw;iw Njh;T nra;f. 
1. ,e;jpa khepyq;fspy; cs;s midj;J vhprf;jp jpwdpYk; jkpo;ehL 

Kd;dzpapy; cs;sJ. 
2. ,e;jpahtpy; fhw;whiy %yk; cw;gj;jp nra;ag;gLk; nkhj;j kpd;dhw;wypy; 

ghjp jkpo;ehl;by; cUthf;FfpwJ. 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 & 2 ,uz;Lk;  d. vJTkpy;iy 

 
77. Arrange energy sources in Tamil Nadu based on their contribution in 

descending order. 
1. Hydel   2. Nuclear  3. Thermal 
a. 1-2-3  b. 3-2-1  c. 3-1-2  d. 1-3-2 
vhprf;jp Mjhuq;fspd; gq;fspg;gpd; mbg;gilapy; ,wq;F thpirg;gLj;Jf. 
1. ePuhw;wy;  2. mZ Mw;wy;  3. ntg;g Mw;wy; 
a. 1-2-3  b. 3-2-1  c. 3-1-2  d. 1-3-2 
 

78. Consider the following statements and choose the correct statements, 
I. Tamil Nadu is leading solar energy producer in country. 
II. Tamil Nadu has highest installed wind energy capacity in country. 
III. Installed energy capacity at Kundankulam is 917 MW and Kalpakkam is 

470MW. 
a. I only   b. I and II only   
c. I and III only  d.  II and III only  
gpd;tUtdtw;Ws; rhpahdtw;iw Nju;T nra;f. 
I. ehl;by; #hpa Mw;wy; cw;gj;jpapy; jkpofk; Kd;dzpapy; cs;sJ. 
II. ehl;by; fhw;whw;wy; epiyaj;ij jkpofk; mjpf mstpy; epWtpAs;sJ. 
III. $lq;Fsj;jpy; epWtg;gl;l Mw;wy; jpwd; 917 nkfhthl; kw;Wk; fy;ghf;fk; 

470 nkfhthl; 
a. I kl;Lk;  b. I & II kl;Lk; c. I & III kl;Lk; d. II & III kl;Lk; 
 

79. Gross Enrollment Ratio is ___ which is highest in country for Tertiary 
education. 
a. 36.9%  b. 46.9%  c. 56.9%  d. 66.9% 
ehl;bd; kpf cahpa %d;whk; epiy fy;tpapd; nkhj;j Nrh;f;if ____ MFk;. 
a. 36.9%  b. 46.9%  c. 56.9%  d. 66.9% 
 

80. Consider the following statements and choose correct answer? 
1. Tamil Nadu ranks first in education loans disbursed under priority sector 

by both public and private  sector banks. 
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2. Tamil Nadu has highest number of internet subscribers  in country. 
a. 1 only     b.  2only 
c. Both 1 and 2    d. None of the above 
gpd;tUk; th;f;fpaq;fspy; rhpahdtw;iw Njh;T nra;f. 
1. nghJj;Jiw tq;fp kw;Wk; jdpahh; Jiw tq;fpapy; Kd;Dhpikj; Jiwapd; 

fPo; toq;fg;gLk; fy;tp fld;fspy; jkpo;ehL Kjyplj;jpy; cs;sJ. 
2. ehl;by; mjpf mstpyhd ,iza re;jhjhu;fis jkpo;ehL nfhz;Ls;sJ.  

a. 1 kl;Lk; b. 2 kl;Lk; c. 1 & 2 ,uz;Lk;  d. vJTkpy;iy 
81. Number of international airports in Tamil Nadu is ___ 
 a. One   b. Two  c. Three  d. Four 

jkpo;ehl;by; cs;s rh;tNjr tpkhd epiyaq;fspd; vz;zpf;if ___. 
a. xd;W  b. ,uz;L  c. %d;W  d. ehd;F 

 
82. Consider the following statements and choose correct answer? 

1. Chennai is largest Airport in India followed by Mumbai  and Delhi. 
2. Tamil Nadu ranks second in India in total road projects in India under 

public – private partnership model. 
a. 1 only    b.  2only 
c. Both 1 and 2   d. None of the above 
gpd;tUtdtw;Ws; rhpahdij Nju;T nra;f. 
1. ,e;jpahtpd; kpfg;nghpa tpkhd epiyak; nrd;id> mijj; njhlh;e;J 

Kk;ig kw;Wk; nly;yp 
2. muR – jdpahh; $l;lhz;ik khjphpapd; fPo; ,e;jpahtpy; nkhj;j rhiy 

jpl;lq;fspy; jkpo;ehL, ,e;jpahtpy; ,uz;lhtJ ,lj;jpy; cs;sJ. 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 & 2 ,uz;Lk;  d. vJTkpy;iy 

 
83. Intermediate port in Tamil Nadu is located at  

a. Ennore  b. Rameshwaram c. Nagapattinam d. Cuddalore 
jkpo;ehl;by; ,ilepiy JiwKfk; vq;F mike;Js;sJ. 
a. vz;Z}h;  b. ,uhNk];tuk; c. ehfg;gl;bdk; d. $lY}h; 

 
84. Consider the following statements and choose correct answer? 

1. There are 23 minor ports in Tamil Nadu. 
2. Chennai is a natural harbor and second principal port in handling 

containers. 
a. 1 only     b.  2only 
c. Both 1 and 2    d. None of the above 
gpd;tUtdtw;Ws; rhpahdtw;iw Njh;T nra;f. 
1. jkpo;ehl;by; nkhj;jk; 23 rpwpa JiwKfq;fs; cs;sJ. 
2. nrd;id xU ,aw;if JiwKfk;> kw;Wk; nfhs;fyd;fisf; 

ifahs;tjpy; ,uz;lhtJ nghpa JiwKfkhFk;. 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 & 2 ,uz;Lk;  d. vJTkpy;iy 
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85. In health index, Tamil Nadu is ahead of  
a. Kerala  b. Punjab  c. Gujarat  d. All the above 
Rfhjhu FwpaPl;by; jkpo;ehL ____ Kd;dpiyapy; cs;sJ. 
a. Nfush  b. gQ;rhg;  c. F[uhj;   d. midj;Jk; 
 

86. Choose the correct statements 
1. National Forest Policy 1988 targets a minimum of one-third of area under 

forest cover 
2. Tamilnadu has achieved targeted forest cover in 2017 
a. 1 only  b. 2 only c. both 1 and 2  d. none of these 
 
 
rhpahd $w;Wfis Njh;e;njL 
1. 1988 Njrpa tdf;nfhs;ifapd;gb Fiwe;jgl;rk; %d;wpy; xUgFjp 

fhLfshy; #og;gl;L ,Uf;f Ntz;Lk; 
2. jkpo;ehL ,yf;fhf eph;zapf;fg;gl;l fhLfs; msit 2017y; vl;baJ 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2  d. vJTkpy;iy 
 

87. District in Tamilnadu with maximum forest cover 
a. Erode  b. Nilgiri c. Dharmapuri d. Coimbatore 
jkpo;ehl;by; mjpf fhLfisf; (gug;gsT) nfhz;l khtl;lk; vJ? 
a. <NuhL  b. ePyfphp c. jh;kGhp  d. Nfhak;Gj;J}h; 
 

88. First wildlife sanctuary to be established in state is 
a. Indira Gandhi Wildlife Sanctuary 
b. Mudumalai Wildlife Sanctuary 
c. Mundanturai Wildlife Sanctuary 
d. Megamalai Wildlife Sanctuary 

khepyj;jpy; mikf;fg;gl;l Kjy; tdtpyq;F ruzhyak; vJ? 
a. ,e;jpuhfhe;jp tdtpyq;F ruzhyak; 
b. KJkiy tdtpyq;F ruzhyak; 
c. Kz;le;Jiw tdtpyq;F ruzhyak; 
d. Nkfkiy tdtpyq;F ruzhyak; 
 

89. First Bird Sanctuary established in Tamilnadu in 1977 is 
a. Vettangudi b. Pulicat  c. Karikilli d. Kanjirankulam 
jkpo;ehl;bd; 1977Mk; Mz;L mikf;fg;gl;l Kjy; gwitfs; ruzhyak; vJ? 
a. Ntl;lq;Fb  b. goNtw;fhL c. fhpf;fpsp d. fQ;rpuq;Fsk; 
 

90. Which is not a method of water conservation? 
a. Population control 
b. Renovation of traditional water source 
c. Use of geothermal water 
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d. None of these 
ePh; Nrfhpg;gjw;fhd topKiwfs; my;yhjJ vJ? 
a. kf;fs;njhif fl;Lg;ghL  b. kuGtop tsq;fisg; GJg;gpj;jy; 
c. Gtp ntg;gePh; gad;ghL  d. ,tw;wpy; VJkpy;iy 
 

91. Choose correct statement 
1. ELCOT is a public sector undertaking 
2. ELCOT has established 8 ELCOSEZs in Tamilnadu 
a. 1 only  b. 2 only c. 1 and 2  d. None of these 
rhpahd $w;Wfisj; Njh;e;njL 
1. ELCOT xU nghJj;Jiw epWtdkhFk; 
2. ELCOT epWtdk; vl;L ,lq;fspy; ELCOSEZs I epWtpAs;sJ 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2  d. vJTkpy;iy 
 

92. Near Line Disaster Recovery Centre is located at 
a. Tiruchi  b. Kancheepuram c. Chennai d. Coimbatore 
epah; iyd; NguopT kPl;G ikak; (NLDRC) vq;F mike;Js;sJ? 
a. jpUr;rp  b. fhQ;rpGuk;  c. nrd;id d. Nfhak;Gj;J}h; 
 

93. National Knowledge Network is to 
a. Providing educational programmes 24 x 7 through DTH 
b. Promoting online payment in educational institutions 
c. Connecting universities all over India through a common network 
d. None of these 

Njrpa mwpT tiyaikg;G vd;gJ 
a. DTH %yk; 24 x 7 fy;tp epfo;r;rpf;fis toq;Fjy; 
b. fy;tp epWtdq;fspy; ,izatop fl;lz Kiwfis Cf;Ftpj;jy; 
c. xU nghJthd tiyaikg;gpd; %yk; ,e;jpah KOtJk; cs;s 

gy;fiyf;fofq;fis ,izg;gJ 
d. ,it VJkpy;iy 

 
94. Which of the following service send documents through SMS for citizens to 

download? 
a. Tiny URL  b. Know your government 
c. Namadu Arasu d. Makkal Number 
Fbkf;fs; jutpwf;fk; nra;a SMS %yk; Mtzq;fis mDg;Gk; gpd;tUk; 
Nrit vJ? 
a. bdp URL  b. cq;fs; murhq;fj;ij mwptPh; 
c. ekJ muR  d. kf;fs; vz; 
 

95. Amma call centre has a toll free number of ________ for public to submit 
grievance 
a. 1098  b. 121  c. 1100  d. 1248 
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nghJ kf;fs; Fiwfis njhptpf;f> mk;kh miog;G ikak; toq;fpAs;s 
fl;lzkpy;yh vz; vJ? 
a. 1098  b. 121  c. 1100  d. 1248 
 

96. Namadhu arasu is platform to _______ 
a. Provide unique number to each recident  
b. Single window for business clearance 
c. Online dissemination of information regarding governance 
d. Wifi, internet fascility provision in rural areas 

ekJ muR vd;gJ 
a. xt;nthU FbapUg;Gf;Fk; jdpg;gl;l vz;iz toq;Fjy;  
b. tzpf mDkjpf;fhd xw;iw top 
c. MSif njhlh;ghd jfty;fis ,izaj;jpy; ntspapLjy; 
d. fpuhkg;Gw gFjpfspy; it – ig> ,iza trjpfis Vw;gLj;Jjy; 

 
97. _______ has images of monuments, excavation, inscription, coins, sculpture 

and paintings 
a. Kani Tamil Peravai  b. Tamizhar Thagaval Aatrupadai 
c. Tamil perukalanjiyam  d. Creative commons initiative 
epidTr;rpd;dq;fspd; glq;fs;> mfo;tha;T nghUl;fs;> fy;ntl;Lfs;> 
ehzaq;fs;> rpw;gq;fs; kw;Wk; Xtpaq;fis nfhz;Ls;sJ vJ? 
a. fzpj;jkpo; Nguit  b. jkpoh; jfty; Mw;Wg;gil 
c. jkpo; ngUq;fsQ;rpak;  d. Mf;fg;g+h;tkhd nghJkf;fs; Kaw;rp 
 

98. Rank of Tamilnadu in Good Governance Index is _______ 
a. One  b. Two   c. Twenty  d. Twenty-one 
ey;yhl;rpf; FwpaPl;by; jkpofj;jpd; ,lk; vd;d? 
a. xd;W b. ,uz;L  c. ,UgJ  d. ,Ugj;J xd;W 
 

99. Second Global Investors Meet attracted on investment to tune of 
a. Rs.1 lakh crore  b. Rs.2 lakh crore 
c. Rs.3 lakh crore  d. Rs.4 lakh crore 
,uz;lhtJ cyf KjyPl;lhsh;fs; re;jpg;G vt;tsT KjyPl;il <h;j;jJ? 
a. &.1 yl;rk; Nfhb  b. &.2 yl;rk; Nfhb 
c. &.3 yl;rk; Nfhb  d. &.4 yl;rk; Nfhb 
 

100. Maternal Mortality Rate in Tamilnadu in 2019 is ________ according to State 
Health Management Information System 
a. 66  b. 63  c. 60  d. 57 
khepy Rfhjhu Nkyhz;ik jfty; mikg;gpd; mwpf;ifg;gb> 2019Mk; Mz;by; 
jkpo;ehl;bd; kfg;NgW ,wg;G tpfpjk; vd;d? 
a. 66  b. 63  c. 60  d. 57 
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101. Choose the correct statements 
1. Tamilnadu received best state award for organ transplantation for the fifth 

time 
2. Received central government‟s award for best performance in Beti Bachao 

Beti Padhao Scheme 
3. Received Krishi Karman Award for 5 times 
a. 1 and 2 only  b. 2 and 3 only 
c. 1 and 3 only  d. All of these 
rhpahd $w;Wfis fhz;f 
1. cWg;G khw;W rpfpr;irapy; rpwe;j khepy tpUjpid jkpo;ehL Ie;jhtJ 

Kiwahf ngw;Ws;sJ 
2. Ngl;b gr;rht; Ngl;b gjht; jpl;lj;jpy; rpwe;j nray;jpwDf;fhf kj;jpa 

murpd; tpUjpidAk; jkpofk; ngw;Ws;sJ 
3. fpU~;~p fh;khd; tpUjpid 5 Kiw ngw;Ws;sJ 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 3 kl;Lk;  d. ,it midj;Jk; 
 

102. UNESCO Award for restoration of work without altering architecture was 
given to 

a. Meenakshi Sundareswarar Temple, Madurai 
b. Srirangam Arulmigu Aranganatha Swamy Temple 
c. Airawatesvara Temple, Dharasuram 
d. Kailasanatha Temple, Kanchipuram 

fl;blf;fiyia khw;whky; Gduikg;G gzpfis Nkw;nfhz;likf;fhf 
And];Nfh tpUjpid __________ ngw;wJ 
a. kPdhl;rp Re;jNu];th; Nfhapy;> kJiu 
b. =uq;fk; mUs;kpF muq;fehj Rthkp Nfhapy; 
c. IuhtjP];tuh; Nfhapy;> jhuhRuk; 
d. ifyhrehjh; Nfhapy;> fhQ;rpGuk; 

 
103. 24 hours Educational Channel launched by Tamilnadu government for benefit 

of students is 
a. Swayam  b. Swayam Siddha c. Kalvi  d. Paritchai 
khzth;fs; gadilAk; tifapy; jkpof muR njhlq;fpa 24 kzpNeu fy;tp 
miythpir _______ 
a. ];tak;  b. ];tak; rpj;jh c. fy;tp  d. ghpl;ir 
 

104. Integerated Livestock Research park have been established at ________ on an 
area of 1102 acres 
a. Dharmapuri  b. Krishnagiri c. Ariyalur  d. Salem 
1102 Vf;fh; gug;gstpy; xUq;fpize;j fhy;eil Muha;r;rp g+q;fh ________ ,y; 
epWtg;gl;Ls;sJ 
a. jh;kGhp   b. fpU~;zfphp c. mhpaY}h;  d. Nryk; 
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105. Tertiary Treatment and Reverse osmosis (TTRO) plant has been established at 
a. Kodungaiyur b. Koyambedu c. Nemmeli  d. Both a and b 
%d;whk; epiy rpfpr;ir kw;Wk; jiyfPo; rt;t+Lguty; Miy vq;F 
mikf;fg;gl;Ls;sJ? 
a. nfhLq;ifa+h; b. Nfhak;NgL  c. nek;Nkyp d. a kw;Wk; b ,uz;Lk; 
 

106. Which is not a university where Tamil chair will be established? 
a. Oxford university   b. Houston university 
c. Harvard University  d. Texas university 
gpd;tUk; ve;j gy;iyfofj;jpy; jkpo; ,Uf;if epWtg;gltpy;iy? 
a. Mf;];Nghh;L gy;fiyfofk; b. M];ld; gy;fiyfofk; 

c. `hh;th;L gy;fiyfofk;  d. nlf;]h]; gy;fiyfofk; 
 

107. Advanced Institue of Wildlife Conservation (Research, Training and 
Education) is situated at 
a. Vedanthangal b. Vandalur c. Guindy  d. Point Calimere 
Nkk;gLj;jg;gl;l tdtpyf;F ghJfhg;G epWtdk; (Muha;r;rp> gapw;rp kw;Wk; 
fy;tp) vq;F mikf;fg;gl;Ls;sJ? 
a. Ntle;jhq;fy; b. tz;lY}h; c. fpz;b  d. Nfhbaf;fiu 
 

108. Match the following  
Type of Agriculture    Area Practised 
A. Subsistence Intensive Agriculture 1. Banks of River Cauvery 
B. Plantation agriculture   2. Hill slopes of western ghat 
C. Mixed farming    3. All over Tamilnadu 
 A B C  
a. 1 2 3 
b. 3 2 1 
c. 2 1 3 
d. 1 3 2 
nghUj;Jf 
Ntshz; tif   gaphplg;gLk; gFjpfs; 
A. jPtpu tptrhak;    1. fhtphp Mw;Wg; gFjpfs; 
B. Njhl;l Ntshz;ik  2. Nkw;F njhlh;r;rp kiy rhpTfs; 
C. fyg;G tptrhak;   3. jkpo;ehL KOtJk; 
 A B C  
a. 1 2 3 
b. 3 2 1 
c. 2 1 3 
d. 1 3 2 
 

109. Choose the correct statements 
1. Tamilnadu Rice Research Institute (TRRI) was established in April 1985 in 

Ariyalur 
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2. It coordinates with agriculture colleges to meet research requirements 
a. 1 only  b. 2 only  c. 1 and 2  d. none of these 
rhpahd $w;Wfis fz;lwpf 
1. jkpof ney; Muha;r;rp epWtdk; Vg;uy; khjk; 1985Mk; Mz;L mhpaY}hpy; 

Njhw;Wtpf;fg;gl;Ls;sJ 
2. ,J Ntshz; fy;Y}hpfSld; ,ize;J Muha;r;rp Njitfis g+h;j;jp 

nra;fpwJ 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 2   d. ,it VJkpy;iy 
 

110. Match the following 
A. Chithiraipattam i. paddy  1. April to September 
B. Adipattam  ii. fruit  2. November to March 
C. Navarai  iii. cotton  3. July to February 
 A  B  C  
a. i, 1  ii, 2  iii, 3 
b. i, 2  iii, 3  iii, 1 
c. iii, 3  ii, 1  i, 2 
d. iii, 1  i, 3  ii, 2 
nghUj;Jf 
A. rpj;jpiugl;lk; i. ney;   1. Vg;uy; Kjy; nrg;lk;gh; tiu 
B. Mbg;gl;lk;  ii. gok;  2. etk;gh; Kjy; khh;r; tiu 
C. etiu   iii. gUj;jp  3. [{iy Kjy; gpg;uthp tiu 
 A  B  C  
a. i, 1  ii, 2  iii, 3 
b. i, 2  iii, 3  iii, 1 
c. iii, 3  ii, 1  i, 2 
d. iii, 1  i, 3  ii, 2 

 
111. The term „nutri-cereal‟ refers to 

a. paddy  b. millet  c. wheat  d. maize 
„nutri-cereal‟ vd;w gjk; vijf;Fwpf;fpwJ? 
a. ney;  b. jpid  c. NfhJik  d. Nrhsk; 
 
 

112. Choose the correct statements 
1. Coconut is major oilseed of Tamilnadu 
2. Cotton requires humid weather in early stages and dry weather during 

harvest 
a. 1 only  b. 2 only c. 1 and 2  d. none of these 
rhpahd $w;Wfis fz;lwpf 
1. Njq;fha; jkpo;ehl;bd; Kf;fpa vz;nza; tpj;jhFk; 
2. gUj;jp gaphpl Muk;gj;jpy; <ukhd fhyepiyAk; mWtilapd;NghJ twz;l 

fhyepiyAk; Njitg;gLfpwJ 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2  d. ,it vJTkpy;iy 
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113. Find out the correct statements 

1. Tamilnadu stands second in coffee production after Kerala 
2. Tamilnadu stands third in tea production after Kerala and Assam 
a. 1 only  b. 2 only  c. 1 and 2  d. None of these 
rhpahd $w;Wfis fz;lwpf 
1. fhg;gp cw;gj;jpapy; Nfusj;jpw;F gpd;G jkpofk; ,uz;lhkplk; tfpf;fpwJ 
2. Njapiy cw;gj;jpapy; Nfush kw;Wk; m];]hkpw;F gpwF jkpo;ehL %d;whk; 

,lk; tfpf;fpwJ 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 2 d. ,it vJTkpy;iy 
 

114. Second green revolution focuses on 
a. Improving productivity using HYV seeds 
b. Using biotechnology to produce better yield 
c. Organic farming 
d. None of these 

,uz;lhk; gRik Gul;rp ftdk; nrYj;JtJ 
a. mjpf kf#y; tif tpijfis gad;gLj;jp cw;gj;jpia Nkk;gLj;Jjy; 
b. rpwe;j tpisr;riy cUthf;f caphp njhopy;El;gj;ijg; gad;gLj;Jjy; 
c. fhpkcu tptrhak;  
d. ,it VJkpy;iy 

 
115. District that leads in inland fish production in tamilnadu is 

a. Cuddalore  b. Villupuram c. Vellore  d. Sivagangai 
jkpo;ehl;by; cs;ehl;L kPd; cw;gj;jpapy; Kjyplk; tfpf;Fk; khtl;lk; 
___________ 
a. flY}h;  b. tpOg;Guk;  c. NtY}h;  d. rptfq;if 
 

116. Backward class commission constituted by Tamil Nadu Government is under 
chairmanship of  
a. Santhanam  b. Kaka Kalekar c. Mandal   d. Sattanathan  
jkpof murhy; epakpf;fg;gl;l gpw;gLj;jg;gl;Nlhh; Mizaj;jpd; jiyik 
nghWg;ig Vw;wth; 
a. re;jhdk;  b. fhfh fNyy;fh; c. kz;ly;  d. rl;lehjd;  
 

117. In Tamil Nadu 69% reservation received fullest legal protection under chief 
minister-ship of __________ 
a. J. Jayalalitha   b. Janaki Ramachandran 
c. M. Karunaidhi   d. M.G. Ramachandran  
jkpofj;jpy; gpd;gw;wg;gLk; 69% ,lxJf;fPlhdJ ahUila Ml;rpapd; fPo; G+uz 
rl;lG+h;t ghJfhg;gpidg; ngw;wJ? 
a. J. n[ayypjh   b. [hdfp uhkr;re;jpud; 
c. M. fUzhepjp   d. M.G. uhkr;re;jpud;  
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118. Which of following factor denotes social Justice as best? 

a. Special laws and privileges to underprivileged communities 

b. Delegation of equal power to people  

c. Struggle by weaker groups to establish equal society through equal 
opportunity  

d. System based on collective ownership emphasizing equality  
fPo;f;fz;ltw;Ws; r%f ePjpia rpwg;ghff; Fwpf;Fk; fhuzp vJ?  
a. rYiffsw;w gphptpdUf;F rpwg;ghd rl;lq;fisAk;> Kd;DhpikfisAk; 

Vw;gLj;Jjy;  
b. kf;fSf;F rk mjpfhu gpujpepjpj;Jtj;ij toq;Fjy;  
c. rk tha;g;Gfs; %yk; rkj;Jt rKjhaj;ij mila gytPdkhd FOf;fs; 

NghuhLjy;  
d. rkj;Jtj;ij typAWj;Jk; $l;L chpikia epiyehl;Ljy;  

 
119. Distinctions between individuals are justified when it is on basic of  

a. Social identities    b. Cultural differences 
c. gender     d. Achievements 
jdp egh;fSf;fpilapyhd NtWghLfs; vjd; mbg;gilapy; 
epahag;gLj;jg;gLfpwJ? 
a. r%f milahsq;fs;   b. fyhr;rhu NtWghLfs;  
c. ghypdk;    d. rhjidfs;  
 

120. Which of the following describes the purpose of affirmative action as best? 
a. Promotion of economic equality  
b. diminish or eliminate conditions which cause or help to perpetuate 

discrimination prohibited by covenant  
c. Providing equality for all persons placed in any situations.  
d. Changes which create behavioral variation 
fPo;f;fz;ltw;Ws; cWjpg;gLj;Jk; eltbf;ifia tpthpg;gJ vJ?  
a. nghUshjhu rkj;Jtj;ij Nkk;gLj;Jjy;  
b. epiyj;j ghFghLfisf; jilnra;af; nfhz;L tUk; cld;gbf;iffis 

xopj;jy;  
c. vt;tpj #o;epiyfspYk; cs;s kf;fSf;F rk chpikia mspj;jy;  
d. elj;ij khw;wq;fSf;fhd tha;g;Gfis nfhz;L tUjy;  
 

121. One of means to attain permanent equality 
a. Reservation in education  b. Reservation in employment  
c. Inter caste marriages   d. All the above  
epiyahd rkj;Jtj;ij mila xNu top 
a. fy;tpapy; ,l xJf;fPL  b. Ntiytha;g;gpy; ,l xJf;fPL  
c. fyg;Gj; jpUkzq;fs;  d. Nkw;fz;l midj;Jk;  
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122. Match the following 
A. Bhavanisagar dam  1. Tiruppur 
B. Amaravati dam   2. Erode 
C. Sathanur dam   3. Tirunelveli 
D. Manimuthar dam  4. Tiruvannamalai 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 4 3 
d. 3 4 1 2 
nghUj;Jf 
A. gthdprhfh; miz  1. jpUg;g+h; 
B. mkuhtjp miz   2. <NuhL 
C. rhj;jD}h; miz   3. jpUney;Ntyp 
D. kzpKj;J}h; miz  4. jpUtz;zhkiy 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 1 4 3 
d. 3 4 1 2 
 

123. ________ dam has a unique garden with surname „Little Brindawan‟ 
a. Bhawanisagar b. Sathanur c. Vaigai  d. Manimuthar 
„ypl;by; gpUe;jhtdk;‟ vd;w ngah; nfhz;l Njhl;lj;jpid cila miz vJ? 
a. gthdprhfh;  b. rhj;jD}h; c. itif  d. kzpKj;jhh; 
 

124. Choose the correct statements 
1. Total surface water potential of state is greater than utilisable ground 

water resource 
2. Mullai Periyar dam was built as a joint venture between state governments 

of Tamilnadu and Kerala 
a. 1 only  b. 2 only  c. 1 and 2  d. None of these 
rhpahd $w;Wfis fhz;f 
1. khepyj;jpd; nkhj;j Nkw;gug;G ePh; jpwd; gad;gLj;jg;glf;$ba ePh; 

tsj;ijtpl mjpfkhf cs;sJ 
2. Ky;iyg;nghpahW miz jkpo;ehL kw;Wk; Nfush khepy muRfspd; $l;L 

Kaw;rpahy; fl;lg;gl;Ls;sJ 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2  d. ,it VJkpy;iy 
 

125. Which among the following statements is/are correct? 
1. Per capita availability of water Tamilnadu is 2200 cubic metres 
2. Industries is largest consumer of water in state 
a. 1 only  b. 2 only  c. 1 and 2  d. none of these 
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rhpahd $w;Wfis fhz;f 
1. jkpo;ehl;by; jdpegUf;F fpilf;Fk; ePhpd; msT 2200 fd kPl;lh;fs; 
2. khepyj;jpy; njhopw;rhiyfNs mjpf ePhpid Efh;fpd;wd 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 2    d. ,it VJkpy;iy 
 

126. Arrange following dams based on their location from south to north 
1. Papanasam  2. Mullai Periyar  3. Bhavani Sagar 
4. Kothaiyar  5. Amarawathi 
a. 1-2-3-4-5  b. 4-3-2-1-5 c. 4-1-2-5-3  d. 5-4-3-2-1 
gpd;tUk; mizfis njw;fpy; ,Ue;J tlf;fhf mjd; ,l miktpd;gb 
thpirg;gLj;Jf 
1. ghgehrk;  2. Ky;iyg;nghpahW  3. gthdp rhfh; 
4. NfhijahW  5. mkuhthjp 
a. 1-2-3-4-5  b. 4-3-2-1-5  c. 4-1-2-5-3  d. 5-4-3-2-1 
 

127. Matcht he following 
A. Iron  1. Nilgiri 
B. Gypsum  2. Salem 
C. Ilmenite  3. Tiruchirapalli 
D. Magnesite  4. Kanyakumari 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 2 1 4 3 
nghUj;Jf 
A. ,Uk;G  1. ePyfphp 
B. [pg;rk;  2. Nryk; 
C. ,y;kidl;  3. jpUr;rp 
D. khf;dirl; 4. fd;ahFkhp 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 2 3 4 1 
d. 2 1 4 3 
 

128. Which among the following has not acquired GI tag from Tamilnadu? 
1. Coimbatore wet grinder  2. Pattamadai mat 
3. Madurai malli   4. Salem Sago  5. Nilgiri tea 
a. 4 only   b. 1, 2, 3 and 5 only  
c. 1, 2 and 3 only  d. 3, 4 and 5 only 
gpd;tUtdtw;Ws; jkpofj;jpy; ,Ue;J Gtprhh; FwpaPl;bid ngwhjJ vJ? 
1. Nfhak;Gj;J}h; muit ,ae;jpuk;  2. gj;jkil gha; 
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3. kJiu ky;yp  4. Nryk; [t;thprp  5. ePyfphp Njapiy 
a. 4 kl;Lk;   b. 1> 2> 3 kw;Wk; 5 
c. 1> 2 kw;Wk; 3 kl;Lk; d. 3> 4 kw;Wk; 5 kl;Lk; 
 

129. TANCEM (Tamilnadu Cement Corporation Limited) has cement production 
units at 
a. Ariyalur  b. Alangulam and Virudachalam 
c. Chennai  d. both a and b 
TANCEM (jkpo;ehL rpnkz;l; fof ypkpnll;) rpnkz;l; cw;gj;jp Miyfis 
nfhz;Ls;s ,lq;fs; 
a. mhpaY}h;  b. Myq;Fsk; kw;Wk; tpUj;jhr;ryk; 
c. nrd;id  d. a kw;Wk; b 
 

130. Choose the correct statements 
1. Tamilnadu is largest software exporter in country 
2. Tamilnadu ranks first among all states in number of tourist arrivals 
a. 1 only  b. 2 only c. both 1 and 2 d. none of these 
rhpahd $w;Wfis fhz;f 
1. jkpo;ehL ehl;bd; nghpa kpd;nghUs; Vw;Wkjp khepykhFk; 
2. Rw;Wyh gazpfs; tUif vz;zpf;ifapy; midj;J khepyq;fspYk; 

jkpo;ehL Kjyplk; tfpf;fpwJ 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2    d. ,it VJkpy;iy 
 

131. Second staple food of people of Tamilnadu is 
a. Pulse  b. Millet  c. Oilseed   d. Rice 
jkpo;ehl;bd; ,uz;lhtJ gpujhd czT _________ 
a. gUg;G tif b. jpid  c. vz;nza; tpj;J  d. ney; 
 

132. Disaster emergency contact number is 
a. 1091  b. 100  c. 1077  d. 181 
Nghplh;fhy mtru cjtp vz; __________ 
a. 1091  b. 100  c. 1077  d. 181 
 

133. Nagapattinam district is in region of _______ population in Tamilnadu 
a. Sparse  b. high  c. very high  d. moderate 
ehfg;gl;bdk; khtl;lk; jkpo;ehl;by; ___________ kf;fs;njhif nfhz;l 
gFjpapy; mike;Js;sJ 
a. Fiwe;j  b. mjpf  c. kpf mjpf  d. kpjkhd 
 

134. Longest National Highway in Tamilnadu is NH44 goes from _______ to 
_________ 
a. Tiruvannamalai to Kallakuruchi b. Hosur to Kanyakumari 
c. Kanyakumari to Salem   d. Madurai to Natham 
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jkpofj;jpd; ePskhd Njrpa neLq;rhiyahd NH44 _______ Kjy; _______ 
tiu mike;Js;sJ 
a. jpUtz;zhkiy Kjy; fs;sf;Fwpr;rp tiu  
b. X#h; Kjy; fd;dpahFkhp tiu 
c. fd;dpahFkhp Kjy; Nryk; tiu 
d. kJiu Kjy; ej;jk; tiu 
 

135. Transport which is mainly used by most of people in Tamilnadu is 
a. Railways b. Water ways  c. Airways  d. Road ways 
jkpof kf;fs; Kf;fpakhf mjpfk; gad;gLj;Jk; Nghf;Ftuj;J _________ 
a. ,uapy; Nghf;Ftuj;F  b. ePh;top Nghf;Ftuj;J 
c. thd;top Nghf;Ftuj;J  d. rhiyg;Nghf;Ftuj;J 

136. Which among the following statement is/are correct? 
1. Population density of Tamilnadu is lower than population density of India 
2. Kancheepuram has highest population density among all districts of 

Tamilnadu 
a. 1 only b. 2 only  c. both 1 and 2  d. none of these 
gpd;tUtdtw;wpy; rhpahd $w;Wfis fhz;f 
1. jkpo;ehl;bd; kf;fs;njhif mlh;j;jp ,e;jpahtpd; kf;fslh;j;jpia tpl 

FiwT 
2. fhQ;rpGuk; jkpo;ehl;bd; gpw midj;J khtl;lq;fis fhl;bYk; mjpf 

kf;fslh;j;jpia nfhz;Ls;sJ 
a. 1 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 2  d. ,it VJkpy;iy 

 

137. District with least population density is 
a. Kanyakumari  b. Vellore c. Nilgiri  d. Nagapattinam 
Fiwe;j kf;fslh;j;jp nfhz;l khtl;lk; _________ 
a. fd;dpahFkhp  b. NtY}h; c. ePyfphp  d. ehfgl;bdk; 
 

138. Number of districts in Tamilnadu having a sex ratio above 1000 is 
a. 2  b. 15  c. 12  d. 5 
jkpo;ehl;by; 1000-f;F Nky; ghypd tpfpjk; nfhz;l khtl;lq;fspd; vz;zpf;if 
________ 
a. 2  b. 15  c. 12  d. 5 
 

139. Arrange the following districts based on literacy rate in descending order 
1. Chennai  2. Dharmapuri  3. Kanyakumari 
4. Nilgiris  5. Kancheepuram 
a. 1-2-3-4-5  b. 5-4-3-2-1 c. 3-1-4-5-2  d. 3-1-5-4-2 
vOj;jwpT tpfpjj;jpd;gb khtl;lq;fis ,wq;F thpirg;gLj;Jf 
1. nrd;id  2. jh;kGhp   3. fd;dpahFkhp 
4. ePyfphp  5. fhQ;rpGuk; 
a. 1-2-3-4-5  b. 5-4-3-2-1 c. 3-1-4-5-2  d. 3-1-5-4-2 
 

140. Match the following 

http://www.appolosupport.com/


 
 

39 | Page            www.appolosupport.com    PH: 9500099706       

 
 

A. Toda  1. Agricultural community 
B. Irula  2. Collect snake venom 
C. Badagas  3. Settlement – „Munds‟ 
D. Kurumbas  4. Food gatherers 
E. Paliyan  5. Magic and witch craft 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 3 2 1 5 4 
d. 2 4 1 3 5 
nghUj;Jf 
A. Njhlh;fs;  1. Ntshz; r%fk; 
B. ,Ush;fs;  2. ghk;G tp~ Nrfhpg;ghsh;fs; 
C. gLfh;fs;  3. Kz;l;]; 
D. FUk;gh;fs; 4. czT Nrfhpg;ghsh;fs; 
E. ghypahd;  5. khatpj;ij kw;Wk; ke;jpuq;fs; 
 A B C D E 
a. 1 2 3 4 5 
b. 5 4 3 2 1 
c. 3 2 1 5 4 
d. 2 4 1 3 5 
 

141. ________ tribes are distinguished by their colourful folk dances and are 
basically musicians. They are mainly engaged in producing handicraft 
a. Toda  b. Badaga  c. Kota  d. Kurumbas 
________ goq;Fbapdh; jq;fspd; tz;zkakhd ehl;Lg;Gw eldq;fs; %yk; 
Gfo;ngw;wth;fs; Mth;> mbg;gilapy; ,th;fs; ,irf;fiyQh;fs; Mth;. 
,th;fs; Kjd;ik iftpidg;nghUl;fs; jahhpg;gjpy; <Lgl;Ls;sdh; 
a. Njhlh;fs;  b. gLfh;fs;  c. Nfhlh;fs;  d. FUk;gh;fs; 
 

142. Choose the correct statements 
1. Amma Arokiya Thittam provides opportunity for people above 30 years in 

urban areas to have access to basic health checkup on annual basis 
2. Financial assistance of Rs.14,000 is provided under Dr. Muthulakshmi 

Reddy Maternity Benefit scheme 
a. 1 only  b. 2 only  c. 1 and 2  d. none of these 
rhpahd $w;Wfis fhz;f 
1. mk;kh MNuhf;fpa jpl;lkhdJ efh;g;Gwq;fspy; trpf;Fk; 30 tajpw;F 

Nkw;gl;NlhUf;F Mz;L mbg;gilapy; mbg;gil cly;ghpNrhjid 
nra;Jnfhs;Sk; trjpapid mspf;fpwJ 

2. lhf;lh;. Kj;Jnyl;Rkp nul;b kfg;NgW cjtp jpl;lj;jpd; %yk; &.14>000 epjp 
cjtp toq;fg;gLfpwJ 

a. 1 kl;Lk;  b. 2 kl;Lk;  c. 1 kw;Wk; 2    d. ,it VJkpy;iy 
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143. Birth companion programme provides __________ 

a. Proper guidance towards nutrition and health maintenance of pregnant 
mother 

b. Allow one family member in labour room 
c. Bangle ceremony conducted for poor women by government 
d. None of these 

gpurtjj;jpd; cldpUg;gth; jpl;lk; toq;FtJ ___________ 
a. fUTw;wpUf;Fk; jha;khh;fSf;F rhpahd Cl;lr;rj;J kw;Wk; ey 

guhkhpg;gpid toq;Fjy; 
b. gpurtj;jpd; xU FLk;g cWg;gpdh; gpurt miwapy; ,Uf;f mDkjpf;fpwJ 
c. Viog;ngz;fSf;F tisfhg;G tpohtpid murhq;fk; %yk; elj;JtJ 
d. ,it VJkpy;iy 
 

144. Choose the correct statement 
1. Madras Medical College is oldest Medical college in world 
2. Dr. Muthulakshmi Reddy was first Indian women to graduate from 

medical college in 1912 
a. 1 only  b. 2 only c. both 1 and 2  d. none of these 
 
 
rhpahd $w;Wfis fz;lwpf 
1. nkl;uh]; kUj;Jtf;fy;Y}hp cyfpd; goikahd kUj;Jtf;fy;Y}hpahFk; 
2. lhf;lh;. Kj;Jnyl;Rkp nul;b ,f;fy;Y}hpapy; kUj;Jt gl;lk; ngw;w Kjy; 

,e;jpa ngz;kzpahthh; 
a. 1 kl;Lk;  b. 2 kl;Lk; c. 1 kw;Wk; 2 d. ,it VJkpy;iy 
 

145. Albendazole tablets are provided to children of 1 – 19 years through schools 
and anganwadis for ________ 
a. Iodine deficiency  b. Anaemia  
c. Deworming  d. None of these 
my;ngd;lhNrhy; khj;jpiuahdJ 1 – 19 taJ gs;sp kw;Wk; mq;fd;thb 
Foe;ijfSf;F vij rhpnra;a toq;fg;gLfpwJ? 
a. mNahbd; FiwghL b. ,uj;jNrhif 
c. Flw;GO ePf;fk;  d. ,it VJkpy;iy 
 

146. NH-785 is shortest national highway in Tamilnadu from ______ to ______ 
a. Dharmapuri, Salem   b. Madurai, Natham 
c. Ramanathapuram, Danushkodi  d. Madurai, Tirunelveli 
jkpo;ehl;bd; kpff;Fiwe;j ePsk; nfhz;l Njrpa neLQ;rhiyahdJ ________ 
Kjy; ___________ tiu mike;Js;sJ  
a. jh;kGhp> Nryk;    b. kJiu> ej;jk; 
c. ,uhkehjGuk;> jD~;Nfhb  d. kJiu> jpUney;Ntyp 
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147. Gender Parity Index = 

a. 
Number of Girls Enrolled

Number of Boys Enrolled
 

b. 
Share of Girls at enrollment in a level

Share of Girls at age group in the level
 

c. 
14 15

Share of Girls in enrollment

Share of Girls in age group
 

d. None of these 
ghypd rkj;Jf;FwpaPL = 

a. 
gjpTnra;ag; gl; l rpWkpfspd; vz;zpf; if

gjpTnra;ag; gl; l rpWth; fspd; vz;zpf; if
 

b. 
xU epiyapy; gjpTnra;ag; gl; l rpWkpfspd; gq; F

xU Fwpg; gpl; l taJ njhFjp rpWkpfspd; gq; F
 

c. 
gjpTnra;ag; gl; l rpWkpfspd; gq; F

14 -15 taJila rpWkpfspd; gq; F
 

d. ,it VJkpy;iy 
 

148. Acacia is common vegetation found in 
a. Tropical deciduous forest  b. Tropical evergreen forest 
c. Mountain forest    d. Thorn forest 
mfhrpah vdg;gLk; nghJthd jhtuk; fhzg;gLtJ _________ 
a. ntg;gkz;ly ,iyAjph; fhL  b. ntg;gkz;ly gRikkhwhf; fhL 
c. kiyf;fhL     d. Kl;Gjh; fhL 

149. Hills which separate river basins of cauvery and palar? 
a. Andipatti hills  b. Palani hills 
c. Kalvarayan hills  d. Pachamalai hills 
fhtphp kw;Wk; ghyhW Mw;Wg;gLiffis gphpf;Fk; kiyfs; ___________ 
a. Md;bg;gl;b kiyfs; b. godp kiyfs; 
c. fy;tuhad; kiyfs; d. gr;irkiy kiyfs; 
 

150. Hills which are located in border of Tamilnadu and Kerala is 
a. Palani Hills  b. Cardomom hills 
c. Agathiyar hills  d. Anaimalai hills 
jkpof kw;Wk; Nfus vy;iyg;gFjpapy; mike;Js;s kiyfs; _________ 
a. godp kiyfs;  b. fhh;lkk; kiyfs; 
c. mfj;jpah; kiyfs; d. Midkiy kiyfs; 
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TNPSC GROUP I test batch – 2020 
TEST XXIII – DEVELOPMENT ADMINISTRATION IN TAMILNADU 

 

1 2 3 4 5 6 7 8 9 10 
C A D C B B A C B C 

11 12 13 14 15 16 17 18 19 20 
A A B B A A B A B C 

21 22 23 24 25 26 27 28 29 30 
D A B B C B B C D C 

31 32 33 34 35 36 37 38 39 40 
B D C C C C C A D B 

41 42 43 44 45 46 47 48 49 50 
D A A A A B A D A B 

51 52 53 54 55 56 57 58 59 60 
A B C D C B A A A D 

61 62 63 64 65 66 67 68 69 70 
B C C C D A C D C B 

71 72 73 74 75 76 77 78 79 80 
D D C B A A C B B D 

81 82 83 84 85 86 87 88 89 90 
D B C A C A C B A D 

91 92 93 94 95 96 97 98 99 100 
C C C A C C B A C D 

101 102 103 104 105 106 107 108 109 110 
D B C D D D B B B D 

111 112 113 114 115 116 117 118 119 120 
B B D C C D A C D B 

121 122 123 124 125 126 127 128 129 130 
C C C A D C C A D B 

131 132 133 134 135 136 137 138 139 140 
B C A B D D C B C C 

141 142 143 144 145 146 147 148 149 150 
C D B B C B A D C D 
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